UGC NET 2021 Women Studies

Topic:- 74WS_A

1
) Identify the post-modern French Feminist

(1) Alexandra Kollontai
(2) Julia Kristeva
(3) Angela Davis

(4) Judith Butler
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[Question ID = 4482][Question Description = Q01_WS_SHAAN_NOV21]
1. 1 [Option ID = 17391]
2. 2 [Option ID = 17392]
3. 3 [Option ID = 17393]
4. 4 [Option ID = 17394]

2) Beti Bachao Beti Padhao scheme aims at :

(D Encouraging gender based sex selective discrimination
(2) Ensuring survival and protection of the girl child
(3) Denying the education and participation of the girl child

(4) Encoureing the dropout of girl child after puberty
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[Question ID = 4483][Question Description = Q02_WS_SHAAN_NOV21]
1. 1 [Option ID = 17395]
2. 2 [Option ID = 17396]
3. 3 [Option ID = 17397]
4. 4 [Option ID = 17398]

) Which of the following 1s applicable to women in Jammu and Kashmir. Post repealing of

Article 3707

(1) Women marrying men out side Jammu and Kashmir Lose property rights

(2) Jammu and Kashmir women marrying non-natives lose Residency rights



(3) Jammu and Kashmir women cannot inherit property rights but enjoy permancy of

Residency rights

(4) Jammu and Kashmir women marryving non-natives do not lose permancy of residency

rights as per article 35 A of Indian Constitution
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[Question ID = 4484][Question Description = Q03_WS_SHAAN_NOV21]
1. 1 [Option ID = 17399]
2. 2 [Option ID = 17400]

3. 3 [Option ID = 17401]
4. 4 [Option ID = 17402]

4)
Under which Government of India scheme, women and girls are provided access to low-cost

sanitary pads?

(1) Asmita Yojana (2) Menstrual Hygiene scheme

(3) National Health Mission (4) TUjwala Sanitary Napkin
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[Question ID = 4485][Question Description = Q04_WS_SHAAN_NOV21]
1. 1 [Option ID = 17403]
2. 2 [Option ID = 17404]
3. 3 [Option ID = 17405]
4. 4 [Option ID = 17406]

%) ATLAS t1, N vivo, R package are example of

(1) Computer assissted qualitative data analysis software
(2) Quantitative software

(3) Statistical method

(1) Research design
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[Question ID = 4486][Question Description = Q05_WS_SHAAN_NOV21]
1. 1 [Option ID = 17407]



2. 2 [Option ID = 17408]
3. 3 [Option ID = 17409]
4. 4 [Option ID = 17410]

6) Which of the following is a caste and religion driven crime against women?
(1) Child sexual abuse (2) Honor killing
(3) Kidnapping (4) Female Foeticide
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[Question ID = 4487][Question Description = Q06_WS_SHAAN_NOV21]
1. 1 [Option ID = 17411]
2. 2 [Option ID = 17412]
3. 3 [Option ID = 17413]
4. 4 [Option ID = 17414]

7) Which of the following scheme exclusively deals with dropped out and never enrolled girls?

(1) Out of school programme

(2) National programme for Education of girls at elementary level
3 Kasturba Gandhi Balika Vidyalayas

(4) Early Girl Child Education
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[Question ID = 4488][Question Description = Q07_WS_SHAAN_NOV21]
1. 1 [Option ID = 17415]
2. 2 [Option ID = 17416]
3. 3 [Option ID = 17417]
4. 4 [Option ID = 17418]

8)  Which of the following is true with regard to Feminism?
(1) approves gender discrimination in certain areas
(2) has transformed women from an object of knowledge into subjects capable of
appropriating knowledge

(3) disregards the notion of “Agency”

(4) promote limited autonomy for women
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[Question ID = 4489][Question Description = Q08_WS_SHAAN_NOV21]
1. 1 [Option ID = 17419]
2. 2 [Option ID = 17420]
3. 3 [Option ID = 17421]
4. 4 [Option ID = 17422]

9 . .. . . .
) Which group of feminist view that “Oppression of women 1z the most fundamental form of

oppression, one that cuts across boundaries of race, culture and economic class™?



(1) Liberals (2) Radicals
(3) Socialist (4) Marxist
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[Question ID = 4490][Question Description = Q09_WS_SHAAN_NOV21]
1. 1 [Option ID = 17423]
2. 2 [Option ID = 17424]
3. 3 [Option ID = 17425]
4. 4 [Option ID = 17426]

10 Which of the non-probability sampling technique is used in qualitative research?

(1) Simple Random Sampling (2) Stratified Random Sampling
(3) Purposive Sampling (4) Cluster Sampling
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[Question ID = 4491][Question Description = Q10_WS_SHAAN_NOV21]
1. 1 [Option ID = 17427]
2. 2 [Option ID = 17428]
3. 3 [Option ID = 17429]
4. 4 [Option ID = 17430]

11)  In Global gender gap-Index 2020. India ranked

(1  110® (2) 119m

(3) 114% (4) 1152
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[Question ID = 4492][Question Description = Q11_WS_SHAAN_NOV21]
1. 1 [Option ID = 17431]
2. 2 [Option ID = 17432]

3. 3 [Option ID = 17433]
4. 4 [Option ID = 17434]

12) National Education Policy 2020 for the first time envisages the introduction of compulsory

(1) Technical Education (2) Early Childhood Education

(3 Technical Education for girls (4) Inclusion of person with disabilities
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[Question ID = 4493][Question Description = Q12_WS_SHAAN_NOV21]
1. 1 [Option ID = 17435]
2. 2 [Option ID = 17436]
3. 3 [Option ID = 17437]
4. 4 [Option ID = 17438]

13) Which of the following feminist theory will be more appropriate to study black feminism?
(1) Liberal feminist theory (2) Conflict theory
(3) Socialist feminism (4) Intersectional feminism
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[Question ID = 4494][Question Description = Q13_WS_SHAAN_NOV21]
1. 1 [Option ID = 17439]
2. 2 [Option ID = 17440]
3. 3 [Option ID = 17441]
4. 4 [Option ID = 17442]

14)
Who is the author of the Book titled “Why I am not a Hindu Woman™?
(1) Kancha Illaiah (2) Wandana Sonalkar
(3) Flavia Agnes (4) Taslima Nasrin
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[Question ID = 4495][Question Description = Q14_WS_SHAAN_NOV21]
1. 1 [Option ID = 17443]
2. 2 [Option ID = 17444]
3. 3 [Option ID = 17445]
4. 4 [Option ID = 17446]

15) WED approach talks for
(1) Women — Empowerment — Development
(2) Women — Economy — Development
(3) Women — Environment — Development
(4) Women — Entrepreneurship — Development
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[Question ID = 4496][Question Description = Q15_WS_SHAAN_NOV21]
1. 1 [Option ID = 17447]
2. 2 [Option ID = 17448]
3. 3 [Option ID = 17449]
4. 4 [Option ID = 17450]

16) Who first mentioned the term “Shadow Pandemic™



(1) Antonio Guterres (2) Phumezile Mlambo Ngcuka

(3) Soumya Swaminathan (4) Zilla Eisenstein
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[Question ID = 4497][Question Description = Q16_WS_SHAAN_NOV21]
1. 1 [Option ID = 17451]
2. 2 [Option ID = 17452]
3. 3 [Option ID = 17453]
4. 4 [Option ID = 17454]

17)

Removal of sex-work from the scope of criminal law while protecting the legal rights of the sex
worker. This approach holds state responsible for safer working conditions, minimum
remuneration and civil liberties of sex worker. Identify the most suitable approach

(1) Criminalization of sex work

(2) Decriminalization of sex work

(3) Legalization of sex work

(4) Legalization for empowerment of sex worker
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[Question ID = 4498][Question Description = Q17_WS_SHAAN_NOV21]
1. 1 [Option ID = 17455]
2. 2 [Option ID = 17456]

3. 3 [Option ID = 17457]
4. 4 [Option ID = 17458]

18) Actlon research refers to :

1) A longitudinal research
(2) Top-down research
(3) A research initiated to solve an immediate problem

(4) A research which 1s theoretical
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[Question ID = 4499][Question Description = Q18_WS_SHAAN_NOV21]



1 [Option ID = 17459]
2 [Option ID = 17460]
3 [Option ID = 17461]
4 [Option ID = 17462]
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19) Which Article in CEDAW explicitly enshrines the right to equality in Education?

(1)  Article 10 (2) Article 17
(3)  Article 15 (4) Article 16
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[Question ID = 4500][Question Description = Q19_WS_SHAAN_NOV21]
1. 1 [Option ID = 17463]
2. 2 [Option ID = 17464]
3. 3 [Option ID = 17465]
4. 4 [Option ID = 17466]

20) In the demographic cycle India 1s in the
(1) High stationary stage (2) Early expanding stage
(3) Late expanding stage (4) Low stationary stage
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[Question ID = 4501][Question Description = Q20_WS_SHAAN_NOV21]
1. 1 [Option ID = 17467]
2. 2 [Option ID = 17468]
3. 3 [Option ID = 17469]
4. 4 [Option ID = 17470]

21)  Name the First Indian state to establish the prevention of Witch (Daain)practices Act, 1999

(1) Bihar (2) Maharastra
(3) EKerala (4) Uttar Pradesh
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[Question ID = 4502][Question Description = Q21_WS_SHAAN_NOV21]
1. 1 [Option ID = 17471]
2. 2 [Option ID = 17472]
3. 3 [Option ID = 17473]
4. 4 [Option ID = 17474]

22
) Which type of Research Desiegn was popularized by Nobel lauriate Abhijit Banerjee, Esther

Duflo and Michael Kremer?

1) Diagnostic Research Design (2) Exploratory Research Design
(3) Descriptive Research Design (4) Randomized Control Design
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[Question ID = 4503][Question Description = Q22_WS_SHAAN_NOV21]
1. 1 [Option ID = 17475]
2. 2 [Option ID = 17476]
3. 3 [Option ID = 17477]
4. 4 [Option ID = 17478]

23)

Which of the following international convention known as the international Bill of Rights for
Women, recognises the reproductive rights of women?

(1) UNDHR - Universal Declaration of Human Rights

(2) CEDAW — Convention on Elimination of All Forms of Discrimination Against Women
(3 CRC — Child Rights Convention

(4) CCPR — Convention on Civil and Political Rights
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[Question ID = 4504][Question Description = Q23_WS_SHAAN_NOV21]
1. 1 [Option ID = 17479]
2. 2 [Option ID = 17480]
3. 3 [Option ID = 17481]
4. 4 [Option ID = 17482]

24)

As per global gender gap report World Economic Forum 2019 it will take 257 years to ensure

gender equality in

(1) political participation of women
(2) economic participation of women
(3) education

(4) health and survival
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[Question ID = 4505][Question Description = Q24_WS_SHAAN_NOV21]
1. 1 [Option ID = 17483]
2. 2 [Option ID = 17484]
3. 3 [Option ID = 17485]
4. 4 [Option ID = 17486]

25)

Which one of the following is not the target of ' WASH related to SDG on water and Hyglene
needs?

(1) Achieve universal and equitable access to safe and affordable drinking water for all
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(3) End open defecation, paying special attention to the needs of women and girls and
those 1n vulnerable situations

(4) Eliminate all forms of violence against women

Fmafefias o @ =1 = Ao AN =R AEvIRAAl % Had 9w @ (SDG) ® gEiad | (WASH)

o e TH A7

() =i % foe mfem o Tadm t=ea 1 aEfns o oeE e Tm

@ =t F fom TEiaa o T Fegar au =R i TEE WH w

(3) ™A H U= H GHIE HAl, HiearsAl Aol au SgEiea feafaa 9w el 6 s ey e
(4) At = U BF AT 5 TR 6 TEET OEEE e

[Question ID = 4506][Question Description = Q25_WS_SHAAN_NOV21]
1. 1 [Option ID = 17487]
2. 2 [Option ID = 17488]
3. 3 [Option ID = 17489]
4. 4 [Option ID = 17490]

26)  Under which of the following conditions, the Hindu women are given the right to Divorce?

(1) Inter-faith
(2) Impotence of the Husband. desertion and cruelty
(3) Age difference of more than 20 years between husband and wife
(4) Husband without employment
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[Question ID = 4507][Question Description = Q26_WS_SHAAN_NOV21]
1. 1 [Option ID = 17491]
2. 2 [Option ID = 17492]

3. 3 [Option ID = 17493]
4. 4 [Option ID = 17494]

27) Which of the following government organizations plaved a critical role in shaping the
‘POSHAN Abhivan’

(1) Social welfare board (2) NIPCCD

(3) NITI Aayog {4) NCW (National Commission for Women)
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[Question ID = 4508][Question Description = Q27_WS_SHAAN_NOV21]
1. 1 [Option ID = 17495]
2. 2 [Option ID = 17496]
3. 3 [Option ID = 17497]
4. 4 [Option ID = 17498]

28) WWhich of the following United Nation organizations iz dedicated to “Gender Equality and
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(1) UNICEF (2) UNDP
(3) UN Women (4) UNIFEM
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[Question ID = 4509][Question Description = Q28_WS_SHAAN_NOV21]
1. 1 [Option ID = 17499]
2. 2 [Option ID = 17500]
3. 3 [Option ID = 17501]
4. 4 [Option ID = 17502]

29) According to the Medical Termination of Pregnancy (Amendment) Bill 2020 — What 1s the

requirement for terminating pregnancy between 12 to 20 weeks

(1) Advice of two doctors (2) Advice of medical board
(3) Advice of one doctor (4) Advice of three doctors
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[Question ID = 4510][Question Description = Q29_WS_SHAAN_NOV21]
1. 1 [Option ID = 17503]
2. 2 [Option ID = 17504]
3. 3 [Option ID = 17505]
4. 4 [Option ID = 17506]

30) Which of the following International Conference introduced the term “Reproductive Health”

for the first time?

(D) International Conference on Health and Well being

(2) International Conference on Population and Development
(3 Beijing Conference on Women
4) International Conference on Environment
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[Question ID = 4511][Question Description = Q30_WS_SHAAN_NOV21]
1. 1 [Option ID = 17507]
2. 2 [Option ID = 17508]
3. 3 [Option ID = 17509]
4. 4 [Option ID = 17510]

31) Which of the following i1s the Bilingpual online Marketing Platform for Women

Entrepreneurs/Self help groups and NGO's :

(1) Mahila Portal (2) Narm Shakti
3) Mahila E Haat {(4) Digital India
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[Question ID = 4512][Question Description = Q31_WS_SHAAN_NOV21]
1. 1 [Option ID = 17511]
2. 2 [Option ID = 17512]
3. 3 [Option ID = 17513]
4. 4 [Option ID = 17514]

32)  Which of the following Central Ministry has launched “Sanitease” the women's health and
Hyglene scheme during 2017

(1) Ministry of Women and Child Development
2) Ministry of Health
(3) Ministry of Human Resource Development

4) Ministry of Youth Affairs and Sports
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[Question ID = 4513][Question Description = Q32_WS_SHAAN_NOV21]

1. 1 [Option ID = 17515]

2. 2 [Option ID = 17516]

3. 3 [Option ID = 17517]
4. 4 [Option ID = 17518]

33)  Who is the author of the book “A Field of One’s Own'™?

(1) Arundhati Roy (2) Bina Agarwal

(3) Sharmila Rege (4) Anita Desai
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[Question ID = 4514][Question Description = Q33_WS_SHAAN_NOV21]
1. 1 [Option ID = 17519]
2. 2 [Option ID = 17520]
3. 3 [Option ID = 17521]
4. 4 [Option ID = 17522]

34) Which of the following 1s a prescribed form of marriage under Hinduism?
(1) Gandharva (2) Anuloma
(3) Rakshasa (4) Pratiloma
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[Question ID = 4515][Question Description = Q34_WS_SHAAN_NOV21]
1. 1 [Option ID = 17523]
2. 2 [Option ID = 17524]



3. 3 [Option ID = 17525]
4. 4 [Option ID = 17526]

33) Within Sustainable Development Goals (SDGs), which number of goal is specifically related to

gender equality?

(1)  GoalNo.5 (2) Goal No. 4

(3)  Goal No. 3 (4) Goal No. 2
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[Question ID = 4516][Question Description = Q35_WS_SHAAN_NOV21]
1. 1 [Option ID = 17527]
2. 2 [Option ID = 17528]
3. 3 [Option ID = 17529]
4. 4 [Option ID = 17530]

36 . . . .
) Name the UGC scheme for the establishment of Women's Studies centres in higher
educational institutions
(1) Development of Women's studies in Indian Universities and Colleges
(2) Developing Women's studies in Higher Education
(3) Setting of Women Empowerment cells in Universities and Colleges
(4) Promoting Women's Studies Researches in Unmiversities
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[Question ID = 4517][Question Description = Q36_WS_SHAAN_NOV21]
1. 1 [Option ID = 17531]
2. 2 [Option ID = 17532]

3. 3 [Option ID = 17533]
4. 4 [Option ID = 17534]

37) Which out of the following was not covered under the Millennium Development Goals

(MDGs)?

(1) Improving Maternal Health

(2) Promoting gender equality and empower women
(3) Initiating Gender Budgeting

(4) Combating HIV/AIDs, Malaria and Other diseases
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[Question ID = 4518][Question Description = Q37_WS_SHAAN_NOV21]
1. 1 [Option ID = 17535]
2. 2 [Option ID = 17536]
3. 3 [Option ID = 17537]
4. 4 [Option ID = 17538]

38) Which of the following terms refers to the agreed upon and enforceable social floor helow

which women's earnings and social protection cannot fall?

(1) Glass Ceiling (2) Concrete floor

(3) Sticky Floor (4) Glass Escalator
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[Question ID = 4519][Question Description = Q38_WS_SHAAN_NOV21]
1. 1 [Option ID = 17539]
2. 2 [Option ID = 17540]
3. 3 [Option ID = 17541]
4. 4 [Option ID = 17542]

39) According to the world Economic Forum report 2019 which country is ranked first for the

11™ times in a row for gender equality :
(1) Norway (2) Iceland
(3 Finland (4) Sweden

T2 THHIES FHEE {02 2019 % F99R 5 390 7 AR 11 = 50 S @gEar & o vem w=e aw

T 27

1 T9E (2) wAEEeS

8 fEes (4) ===

[Question ID = 4520][Question Description = Q39_WS_SHAAN_NOV21]
1. 1 [Option ID = 17543]
2. 2 [Option ID = 17544]
3. 3 [Option ID = 17545]
4. 4 [Option ID = 17546]

40) Which Article reads “Nothing in this Article shall prevent the state from making any special

provision for women and children™?

(1)  Article 15(3) (2) Article 15(2)
(3)  Article 14 (4)  Article 14(a)

e AIT=092 A 9% FE T R 6 W A9=es 6 S Hl UEuH TS W AfEensl a9 g= # o G
TEH = G AR T ¢

(1) = F=22 15 (3) (2 ¥=s3 15 (2)
(3 =T 14 @) =R 14 ()

[Question ID = 4521][Question Description = Q40_WS_SHAAN_NOV21]
1. 1 [Option ID = 17547]
2. 2 [Option ID = 17548]
3. 3 [Option ID = 17549]
4. 4 [Option ID = 17550]

41) " R.W. Connell's concept of ‘Patriarchal Dividend’ refers to :



4

e
-

(Aa)

(B)

©

D)

(Aa)
(B)
©
D)

Honour and Prestige and material dividends. men accure under patriarchy
The dividend is universally distributed among men and women
Not all men receive the same share of the patriarchal dividend

All men gain in the same way or in the same degree

Choose the most appropriate answer from the options given below :

(€Y
(2)
(3
@

(A), (C) enly
(A), (D) only
(A). (B) only

(C). (D) only

. T5d, FEE FI OgETes e (e fSases) 1 smawm w5 wa e 5§ 5 A aw

TIgEmT & SAoeia 9T W TEE, TiE R ifas e we w5 A

ST GEAT AT AEAA " we faat w g

wft gl T fUGETTRE AT 1 U TEE 9 9 A 2 A

Tfi E9T I UF T W AYG FHE G0 A 9 7 E

S fau v faepewi § @ HEE SUEE S R 994 Haw

1)

2

(3)

4

el (A) 3 (C)

e (A) 311 (D)

Fae (A) #E (B)

e (C) 1 (D)

[Question ID = 4522][Question Description = Q41_WS_SHAAN_NOV21]
1. 1 [Option ID = 17551]
2. 2 [Option ID = 17552]
3. 3 [Option ID = 17553]
4. 4 [Option ID = 17554]

42)

As per protection of children from Sexual Offences Act (POCSO) 2012 :

(A)
(B)
(©)
D)

The Act defines a child as a person under the age of 18
The Act is gender neutral
It makes provisions for avoiding the re-victimisation of the child at the hands of law

A male below 21 vears of age and a woman below 18 years of age would be considered

children

Choose the most appropriate answer from the options given below :

(1)
2

(A). (B). (C) only

(B). (C). (D) only



(3 (A (C). (D) only

4 (A). (B). (D) only
A AT H e HEw aAfatE, (9eET) 2012 % F9EN
(A)  sifufm § srer-siforr 1 18 =9 9 %8 WG % =4 5 =9 § g e o e
B) = sifatEy S (fm) g )
(C) =89 FHF F w191 Ao -SeE AT H [ WST T5E I ° = 5 = 2

(D) 21 9% H FA A F T 37 18 99 H A 27g I Afaen N ATA—a1feshn qHE A=

4 f2u v faeul ¥ @ wEd IUg IO R 994 i
(L) F== (A). (B) #1 (C)

@ == (B) (C) 3 (D)

()  F@= (A), (O) (D)

(4)  #F= (A), (B) =r (D)

[Question ID = 4523][Question Description = Q42_WS_SHAAN_NOV21]
1. 1 [Option ID = 17555]
2. 2 [Option ID = 17556]
3. 3 [Option ID = 17557]
4. 4 [Option ID = 17558]

43) e . ’
Gender sensitization 1s a basic requirement

(A) to understand the sensitive needs of all genders
(B) examine the personal attitudes and beliefs and question the social realities
(C) to reinforce gender stereotypes in all spheres

(D)  to establish patriarchy in every day life

Choose the most appropriate answer from the options given below :

(1)  (B) and (D) only
(2)  (A)and (B) only
(3) (A) and (C) only

) (C) and (D) only

fom  Fade o SR AT 7
(B) HafrE AtagRET AR grmeT £ S N G a9 W 9 R F e

(C) =t et 7 fom Haelt wgamman % . FeFw F foy

(D)  AfeA e o fagee wfE #4 %



el fau o fapedl § W gEE I9g I B WA Hiiaw
(1)  Fa= (B) 3R (D)
@  F= (A) 3R (B)
() A= (A) # R (O)

(4) A« (C) ¥ (D)

[Question ID = 4524][Question Description = Q43_WS_SHAAN_NOV21]
1. 1 [Option ID = 17559]
2. 2 [Option ID = 17560]
3. 3 [Option ID = 17561]
4. 4 [Option ID = 17562]

44) Womanism refers to :

(A) challenging universalistic assumptions of white feminism

B) acknowledges the importance of family

(C) women centred vision of liberation and engagement resisting oppressive agencies
(D) about supremacy of black women

(E) celebrates the sexuality and strength of black women and recognises they are

survivors of violence and abuse

Choose the correct answer from the options given below :

(1) A). B). (C), (D) only
(2)  (B).(C). (D). (E) only
(3) (A (C). (D). (E) only
4 (A). (B). (O). (E) only

OEER () # w6 = 1 8 - e 20
(A)  vad i i afEs EuronA #=gEE 2
(B) UFER F TEed F O FEAT

(C) T 3T SHhrl TG % wiatr i AiEe Fed 3

(D)  =rvEa afEenst $i wEr=
ERLEiCi]
i fom v faew @ wem IUgT I 9 A
(1) = (A). (B). (C) ¥ (D)
@  F= (B). (O). (D) #F (E)
(3  FaF (A), (0. (D) = (E)
@  F (A, (B). (O) #F (B)

[Question ID = 4525][Question Description = Q44_WS_SHAAN_NOV21]



1 [Option ID = 17563]
2 [Option ID = 17564]
3 [Option ID = 17565]
4 [Option ID = 17566]

A W N -

45
) The report of the committee on the status of women (1974) made the following

recommendations :

(A) Equality not merely for Justice but for development
(B) Focus on Women's empowerment
(C)  Marriage and Motherhood should not be a disability

Dy Maternity leave for working women to be increased from 12 weeks to 26 weeks

Choose the correct answer from the options given below :

1 (A). (®B). (C)only

@ (B).(C). (D) only
(3 @A), (C). (D) only

4 (A).(B). (D) only
AiEenat i fFufd Fad wfafa & wiadaeq (1974) 9 Fetoiaa segien i 7 2

(B) i FEFEFT W EEE

(C) Taam® AR Agea Foowwar TE aE = i

(D)  FEFE G F AU "o FEFT H 12 THE W S 26 HHE R

S fou T e | @ HEE I9g I ] 9A A0
1) A (A), B), (©)
@ == (B). (O). D)
@  Fa A). (O). (D)

@  F=E A), B). (D)

[Question ID = 4526][Question Description = Q45_WS_SHAAN_NOV21]
1. 1 [Option ID = 17567]
2. 2 [Option ID = 17568]
3. 3 [Option ID = 17569]
4. 4 [Option ID = 17570]

46)  Which of the following are non-probability sampling method?

(A) Purposive sampling
®B) Snowhball sampling
(C) Cluster sampling

(D)  Stratified sampling

Chooze the correct answer from the ontions e1ven helow -



(1)  (A). (B)only
2> (A).(C)only
(3)  (C), (D) only

4  (B).(C)only
Frafefiga 4 9 # df T-gwrfaar gfdegw gglh 27
(A) =gy uie=E
(B) == TiaEE

(C)  =g==a Tfa=ad

D)  TEA e

e fau v fapedl § @ wEE I9g I B 99 FiAw
L A, B)
@  #== (A), (O
(3 % (0). (D)
@  F= (B). (O

[Question ID = 4527][Question Description = Q46_WS_SHAAN_NOV21]
1. 1 [Option ID = 17571]
2. 2 [Option ID = 17572]
3. 3 [Option ID = 17573]
4. 4 [Option ID = 17574]

47)  Howis adultery perceived by law in India?
(A) It 1s a criminal offence
(B) It can be a ground for civil issues like Divorce
(C) It is not a criminal offence
(D) Only a man who had consensual sexual intercourse with wife of another could be
punished
Choose the most appropriate answer from the options given below :
(1)  (A). (B) only
(2)  (B). (C)only
(3  (C). (D) only
4 (A (D) only
wia | fafe gro =afa=m i 58 =9 4 3ar s 27

(A) T UF <A AWy F



©)

D)

7 TF 25419 Y TH &

Tt 5ot =afes it uoti & =Y WEw TEAfd | 919 TeY S a1 S Al gied a1 51 w2

= fom o faedt 8 @ HeE IUE I o 9E i

(1)

2

(3)

@

Fa4 (A) 3T (B)

g (B) 311 (C)

= (C) 21 (D)

Fae (A) 31 (D)

[Question ID = 4528][Question Description = Q47_WS_SHAAN_NOV21]
1. 1 [Option ID = 17575]
2. 2 [Option ID = 17576]
3. 3 [Option ID = 17577]
4. 4 [Option ID = 17578]

48) The transgender (Protection of Rights) Act 2019 was met with protest by transgender people
on grounds of :
(A) Lesser pumishment for erimes against transgender people
(B) Absence of provisions on mandatory reservations for transgender people
() requirement of applications to be made to the district Magistrate for issuance of
transgender certificate

(D)  criminalization of begging
Choose the correct answer from the options given below :
(1) (A). (B). (C) only
(2)  (B). (C). (D) only
(3)  (A). (B). (D) only
(4 (A (C). (D) only

ZHSE (T 9 AfgwR) SaEEE 2019 F ZESS A gR1 6 g W g e

(A)  ZIESE ARl % ([95g BHE FTIEl % fou FE 28

D) fasmafs =1 srrdiE

S fou o faedl 4 @ HeE IUEE I R 99 i

1)

(2

(3)

Fae (A). (B) #T (C)
Fa (B). (C) ¥ (D)

e (A), (B) 31 (D)



(4)  Fae (A). (C) 31 (D)

[Question ID = 4529][Question Description = Q48_WS_SHAAN_NOV21]
1. 1 [Option ID = 17579]
2. 2 [Option ID = 17580]
3. 3 [Option ID = 17581]
4. 4 [Option ID = 17582]

49)  Which of the following are correct about Ethnographic Research?

(A) It 1s a survey method
(B) Investigation through observation
(C) Collect and interpret descriptive data

D) Study of people in thelr environment

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C) only
(2) (A (C). (D) only
(3)  (A). (B). (D) only

4  (B). (C). (D) only

TATE G % T 1 fEfates 5 o -1 ww 2 v
(A)  TE UF gEET 95

B)  UEY F A A=

(C) Taw= = 3(hST =1 T¥8 F1 AN =S FT

(D) =AfFA F I 9EE § e

= fau v fapeal @ H gEE I9E S W 5 Hifau
(1) &= (A). B). (O)
2 a4 (A). (O), (D)
(3  # (A). (B), (D)

@ === (B), (€), (D)

[Question ID = 4530][Question Description = Q49_WS_SHAAN_NOV21]
1. 1 [Option ID = 17583]
2. 2 [Option ID = 17584]
3. 3 [Option ID = 17585]
4. 4 [Option ID = 17586]

20) Which of the following are the characteristics of grounded theory in Research?

(A) It 1s a ‘Systematic Methodology largely applied to qualitative research’
®B) Involves formulation theories

(C) Involves the application of Inductive reasoning



(D) It is a deductive model used for testing the hypotheses

Choose the most appropriate answer from the options given below :

(1) (A). (B). (D) only
@ (A (B).(C)only
(3  (B).(C). (D) only

4  (A).(C). (D) only
g | 3an (wEfss) faga i Fefafas 4 @ wiH-d fGfeas 27
(A) T vF geEateud Tgh & T sl Tomens g | @y B e R
B) =HA fagmt 1 e afefaq 2
(C)  =4H AFHATHT 9 H1 SIEF A 7

(D)  T= WEETET & WA F o TEF 2 9T e G

S fau 1o fape 3§ HeW IUEE I 7 99 i

O  F=E(A). B), D)
@  FA4 A), (B), (C)
(3  FA= ®). (0). (D)
4) == (A). (0). (D)

[Question ID = 4531][Question Description = Q50_WS_SHAAN_NOV21]
1. 1 [Option ID = 17587]
2. 2 [Option ID = 17588]
3. 3 [Option ID = 17589]
4. 4 [Option ID = 17590]

51 : ; ; B il
) Which of the following are correct about women's studies as an academic discipline?

(A)  Analyze social and cultural construction of Gender
(B) Promotes androcentrism
(C) Aims to ensure more power to women

(D) Challenges the male centred knowledge

Choose the most appropriate answer from the options given below :

(1) (A (B). (D) only
@ (B).(C). (D) only
(3)  (A), (B). (C) only

4 (A).(C). (D) only

U AFEEF 99 F T H ulsen 999 F 96 4 Heieiad § O -9 gar 2 ¢



(A) =t F A R AERS T F e we
B) T AT HFE

(D) 5% Hfza F9 H A a2

< fau v fasedl § ° weg T9gE I B 994 dia
(1) == (A). (B). (D)
(2 == (B). (0). (D)
(3 = (A). B). (©)

@  F= A). (0. (D)

[Question ID = 4532][Question Description = Q51_WS_SHAAN_NOV21]
1. 1 [Option ID = 17591]
2. 2 [Option ID = 17592]
3. 3 [Option ID = 17593]
4. 4 [Option ID = 17594]

32) Which are the ‘Sex’ related facts below you consider most appropriate?

(A) women give birth to babies, men do not
(B) girls are gentle : boys are rough
(C) doctors are men ; nurses are women

(D)  Boys voices break at puberty. girls’ do not

Choose the most appropriate answer from the options given below :
(1) (A) and (C) only
(2) (A) and (D) only
(3) (C) and (D) only
(4)  (B)and (D) only

Tferiga fom st azi 9 @ 6= 3y Faiias S0 9Ed 77

(A)  =fea et #1549 290 2, T 6

(B) @Rt A w7 W wSE A A
(C) TafFea® 779 7 #; 75 Ao 7

(D) =T T A T 6 ' W 22 T8, sifeswe i Tw

i fu T e § B wem 39T I # 94A Fi

(1)  Faa (A) 3117 ()



(2) == (A) 3 (D)
(3) A« (C) % (D)

4  Fa= (B) 3 (D)
[Question ID = 4533][Question Description = Q52_WS_SHAAN_NOV21]
1. 1 [Option ID = 17595]
2. 2 [Option ID = 17596]

3. 3 [Option ID = 17597]
4. 4 [Option ID = 17598]

33) Gender budgeting scheme was launched in 2008 to achieve gender main streaming and

gender perspective 1n policy formulation, resource allocation and implementation
(A) To ensure financial outlays and policy commitments have gender perspective

(B) It was specifically targeted expenditure for women and girls and pro-women

allocations
(C) To provide income tax benefit to women

(D) To eliminate all forms of violence against women and girl children

Choose the correct answer from the options given below :
(1)  (A)and (B) only
(2) (B) and (C) only
(3)  (A)and (D) only
(4)  (C)and (D) only
FS ARG 92 S 6 ThiM F 2008 § WY T T o A Aifa Fegw, @mem aEe AR

oA | ST T ISEE W 0 ST S S S g uiE R S o

(A)  fasi uftemg wik i s=mEgare |4 st ufoe =+ ghves e

(B) == ufeensAl AR AiferRE % o0 fHem =9 8wt = i aEen-uaie s o
(C)  =fEew=T =+ A = UgH A

= fou o faed @ ¥ HeE U I R 99 i
1 FE @A), B
@  F4(A), ©
(3  F&@ (A). D)

4 a7 (C), (D)

[Question ID = 4534][Question Description = Q53_WS_SHAAN_NOV21]
1. 1 [Option ID = 17599]
2. 2 [Option ID = 17600]
3. 3 [Option ID = 17601]
4. 4 [Option ID = 17602]

>4) Name the feminist activists who tried to charge the legal approaches to pornography by



framing it as civil rights viclation

(A) Catherine Mackinnon
(B)  Andrea Dworkin
(C) Mary Daly

(D) Juha Kristeva

Choose the correct answer from the options given below :

(1) (A). (B)only
2 (B). (C)only
3 (C). (D) only

4 (A). (D) only

H A FEwAE & AW wan Aer sweE o & e Gfes afem s e 95 fofae

AT 1 S|

(Y

(B)

©

(D)

Fof AfeTe
T =

P

iz fau forpedl § & @ed 3UTE S 1 FHA R0

(1

()

(3)

@

Fae (A). (B)
= (B). (C)
Fae (C), (D)

#=e (A), (D)

[Question ID = 4535][Question Description = Q54_WS_SHAAN_NOV21]
1. 1 [Option ID = 17603]
2. 2 [Option ID = 17604]
3. 3 [Option ID = 17605]
4. 4 [Option ID = 17606]

55)

Hermeneutics as a theory and methodology :

(A) Is the study of interpretation and the theory and practice of interpretation

(B) Is derived from religious studies and linguistics, traditional hermeneutics such as

biblical hermeneutics
(C) Modern hermeneutics is developed by Heldegger and Hans-Georg Gadamer

(D) Contemporary hermeneutis 1s developed by the Brazilian Augusto Boal and Paulo
Friere

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) onlyv



(2)  (B).(C). (D) only
(3)  (A). (B). (D) only

4)  (A).(C). (D) only

s fgE AN Ugid =0 | wrEny {erE

(A) =S AN fUgia 1 S HN S i STEEE 2
B) I SrEAE ST WA S YR A, g e A 9 fage o et e e
(C)  =gfre smeny HimiE =1 #5720 51| AT MEA A i e E

2 fau formet § o T Suge I w = A
(1) F== (A). (B). (O
@2  F (B). (0). D)
(3)  Fa (A). (B). (D)
@ 7= (A) (©). (D)

[Question ID = 4536][Question Description = Q55_WS_SHAAN_NOV21]
1. 1 [Option ID = 17607]
2. 2 [Option ID = 17608]
3. 3 [Option ID = 17609]
4. 4 [Option ID = 17610]

>6) The ILO Resolution 2014 regarding the expansion of the definition of Women's work,

recognized, unpald work performed by women within household in the following
(A) self care works (personal grooming, hygiene etc)
(B) all work that do not involve any form of production of goods or services

(C) activities that cannot be performed by another person on ones own behalf (own

activities for recreation learning etc)

(D)  additional work performed in fields

Choose the most appropriate answer from the options given below :

(1) (B). (C) and (D) only
(2) (A). (B) and (D) only
(3) (A). (B) and (C) only
(4) (A). (C) and (D) only

Hieematl % FT i UNET F EER F vEd °§ A% UH o 90w, 2014 Frefafgs 9 ofEm w ode

(A) = AT AW A (S e, e, )

B) U i w5 a1 e W seE wibe 995 2

(C) UH TFAmram =1 Bt =t Fi o9r ° E A= TE W g 2 (T, ook, o % o
= o)



A0 B b L B e L L i L L R L b

12 fou farel § @ e I I W A FiOAC
(1) =& (B). (©). (D)
@  F4 (A). (B). (D)
(3)  Fa (A). (B). (O)

(4) === (A), (C), (D)

[Question ID = 4537][Question Description = Q56_WS_SHAAN_NOV21]
1. 1 [Option ID = 17611]
2. 2 [Option ID = 17612]
3. 3 [Option ID = 17613]
4. 4 [Option ID = 17614]

57 . . . .- .
) Which of the following are techniques of female sterilisation?

(A) Minilaparotomy
(B) Laparoscopic
(C) Vasectomy

(D)  Vacuum aspiration

Choose the correct answer from the options given below :
(1)  (A)and (B) only
(2) (B) and (C) only

(3)  (C)and (D) only

(4 (A)and (D) only

e 3 & - = st 1wt 7

& RS
(B) I
(C) =EwE

(D) =@ TETEE

(1)  F=E (A) 7R (B)
(2) #A= (B) 3 (C)
(3)  FA (C) 3R (D)
@ A Q) SR (D)

[Question ID = 4538][Question Description = Q57_WS_SHAAN_NOV21]
1. 1 [Option ID = 17615]
2. 2 [Option ID = 17616]



3. 3 [Option ID = 17617]
4. 4 [Option ID = 17618]

58) . . e
Main Reasons for women's work being largely excluded from statistical data are

(A) cultural construction of women's work
(B) invisibility of women's work
(C) sensitivity of the investigators

(D)  difficulties in measuring women's work

Choose the most appropriate answer from the options given below :

(1) A). (B). (C) only

2 (B).(C). (D) only
(3)  (A).(C). (D) only

4)  (A). (B). (D) only
Hifeaha AHET 7 Aimenisi GIT 0 T 1) w1 SAuhat M 7 5 TH F g w5
(A)  TfEETHT % FE 6 TR T

(C)  sA=i i Hagafier

(D)  AfEen=T = HEl 419 H Bl

iz fau fomedl @ @ TeE IUgE S R =9 A
@ FEE Q). B 3R ()
@ A= (B). (O) =R (D)
(3)  # (A). (C) #F (D)
4  F== (A). (B) 57 (D)

[Question ID = 4539][Question Description = Q58_WS_SHAAN_NOV21]
1. 1 [Option ID = 17619]
2. 2 [Option ID = 17620]
3. 3 [Option ID = 17621]
4. 4 [Option ID = 17622]

59 2 4 ; a5
) Who argued that Western feminiasts constructed third world women as a monolithic group

reduced to being the victims of patriarchal cultures and traditions?
(A) Sarojini Naidu

(B) Gayatri Spivak

(C) Chandra Talpade Mohanty

(D)  Flavia Agnes



Choose the most appropriate answer from the options given below :

(1) (&), (B) only
2 (B). (), only
3 (C). (D) only

4 (A).(D)only

e 97 wa1 & T ofvaft Tfertea 3 e gfmn f afeenen i, o9 fogemres sefa o w6
difsarai = vk v Tge w9 °, = H R

(A) Tt A
(B) T TEE
(C) =gl d=9s "EI

D) et uiEE

2 2o fael 3 ¥ TEE TR I 9 i
(1) #F4 (A), (B)
@  #=4(®B). (©)
(3 94 (C). D)

@  FFF (A), (D)

[Question ID = 4540][Question Description = Q59_WS_SHAAN_NOV21]
1. 1 [Option ID = 17623]
2. 2 [Option ID = 17624]
3. 3 [Option ID = 17625]
4. 4 [Option ID = 17626]

60)  Which of the following is true about Conditional Cash Transfer Schemes (CCTS)?

{A) CCT schemes allocate cash directly to poor house holds
(B) CCT aims at reduction of poverty
(C) CCT aims at social empowerment

(D)  Beneficiaries have to fulfill conditions like health checkup. Immunization. school

attendence ete

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only
2 B).(C). (D) only
(3)  (A). (B). (D) only

@ (A).(C). (D) only
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T T2 e Thim (T i fwe) % an d fetaiaa § 9 #E — FE ad 2 e
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(B) i H F = @ 7 FdAa 8w e

(C) i =i 71 = =& B TR SRy

(D) ST B T W, R, e | SueEtd, e S 9|l O e we w
d12 f2u fompeml 4 | w8 39 1 994 AU

(1 F=E @A), B.(©)

@ ¥ B). (0). (D)

(3)  Fa (A). (B). (D)

@ = (A), (0, (D)

[Question ID = 4541][Question Description = Q60_WS_SHAAN_NOV21]
1. 1 [Option ID = 17627]
2. 2 [Option ID = 17628]
3. 3 [Option ID = 17629]
4. 4 [Option ID = 17630]

61)

Self Help Groups (SHGs) are

@)
B)
©)
D)

Urban-town based financial intermediary committees of 10-12 local women and men
Fast emerging as a promising tool for promoting income-generating enterprise
An informal arrangement for credit supply to the poor

A viable alternative to achieve objectives of rural development through community

participation

Choose the most appropriate answer from the options given below :

(1
(2
(3
@

(A). (B) and (C) only
(A). (B) and (D) only
(B). (C) and (D) only

(A). (C) and (D) only

= gEEdl 99E (vE vE H) #

(A)  10-12 TIHE Aizenal o7 = Fi 7 FEE e aemEd ataten

(B) ™ G5 N A TE] % HAd % 0 S H S0 S ¥ W 9w

(C) T4 =1 o0 WM W T TR S

D) amEF arfer % mrem g adf fe & s2vat 1w % fom ok smEee e
g fau faeat § @ = 39 F 954 i

(1 == (A). B).(C)

2  #=F A), (B). (D)

(3)

#a= (B). (C). (D)



@  F=E (A (0. (D)

[Question ID = 4542][Question Description = Q61_WS_SHAAN_NOV21]
1. 1 [Option ID = 17631]
2. 2 [Option ID = 17632]
3. 3 [Option ID = 17633]
4. 4 [Option ID = 17634]

62) Which of the following are the key Amendments in the Maternity Benefit (Amendment Act of
2017)?

(A) Increased paid maternity leave

(B) Maternity leave for adoptive and commissioning mothers
(%] Work from Home option

D) Creche facility

(E) Financial cost is shared by Government employver and insurance agency

Choose the correct answer from the options given below :
(1)  (A). (B). (C), (E) only
2 (B).(C), (D), (E) only
3 (A, (B). (C), (D) only
4 (A (C). (D), (E) only
Tt wgl (FeeA) Afaftem 2017 8 Fefatiad 7 #H-F60 8§ 09" 5o 7 7
A) = A A g A
(B) =% 9 FHITA T A1l A o wEld sEm
(C) = o FHFl A H T
(D)  TomrEEd giaw

(E) Toeim =ira gowr, FEmmn 0 ey TSEi g 9 &9 | 989 = A R

iz fau forremi § @ TE 3 = Fifa
1 F=E A, B), ©). (B)
2 === (B). (C), (D), (B)
(3 A (A). B). (C), (D)

4 =7 (A), (0), (D), (E)

[Question ID = 4543][Question Description = Q62_WS_SHAAN_NOV21]
1. 1 [Option ID = 17635]
2. 2 [Option ID = 17636]
3. 3 [Option ID = 17637]
4. 4 [Option ID = 17638]

63) What is true about hypothesis?

(A) Some research studies are conducted merely to generate hypothesis
(B)  All research studies begin and are carried out with the help of hypothesis
() Hypothesis helps to the efficient organisation of data

T Hynathaecie ara faormiilated in the form of tentative aneware 0 recaareh aliestinne



(PSS | = i ey e Y oL B g B o e e g el o e Bt R~y e e el DS TN e et SR ot e i

Choose the correct answer from the options given below :

(1)
2
(3)
(€]

(A). (B) and (C)
(A). (C) and (D)
(A). (B) and (D)

(B). (C) and (D)

TR % HEE § T A

(A) AT WY ASAEH WE MEEHIEA F G54 F o {5 9 2

(B) @ Y SEAEA WA hi @EEdl | 9E S F e A 2

(C)  WEeuAl SATHS] I SHATYE® HiSd FH # HEEE 6 A

(D)  wrEeTEAl F HETw Wy 9yl SRiaE 3 6 =9 F A i #

2 fou fedi 8 & T8 I @ == Fiem:

1) F=4F (A B). (C)

@  #=4 (@A), ©), D)

(3  F99 (A). B). (D)

4  #=4 (B). (O). (D)

[Question ID = 4544][Question Description = Q63_WS_SHAAN_NOV21]
1. 1 [Option ID = 17639]
2. 2 [Option ID = 17640]
3. 3 [Option ID = 17641]
4. 4 [Option ID = 17642]

64)

(A)
(B)

(©)
D)

Match List [and List II :

List I
(Persons)

Easterine Kire (Poet)

)

Irom Chanu Sharmila (Civil Right (II)

Activist)
Mamang Dai (Poet, Novelist)

Indira Goswami (Poet writer)

(I1D)
(Iv)

List IT
(Places)
Manipur

Aszam

Arunachal Pradesh
Nagaland

Choose the correct answer from the options given below :

(1)
@
(3
(€

(A)-(ID). (B)-(D). (C)-(ID). (D)-AV)
(A)-(ITD), (B)-(D), (C)-(ID), (D)-(IV)
(A)-(IV), (B)-(D). (C)-(IID), (D)-(IT)
(A)-(). (B)-(ID). (C)-(II), (D)-IV)

g 1% o gl [T %1 fae it

- T

Do B e gt s i



(A)

(B)

(©
(D)

SgHEi-1 siel-il

(=f) (7o)

et TR () @ =fTRE

=0 = witden (fafae sfasm wrwa) In =M

THT 3T (i, STTEER) AI) o= T3
st T () AV) TS

= fou o fawew 85§ 99 3 #1099 it

ey
(2)
(3)
(4)

(A)-(ID). (B)-(T). (C)-(III). (D)-(IV)
(A)-(IID). (B)-(I). (C)-(ID). (D)-(IV)
(A)-IV), (B)-(D). (C)-(I11), (D)-(II)
(A)-(D. (B)-(D), (C)-(IID). (D)-(IV)

[Question ID = 4545][Question Description = Q64_WS_SHAAN_NOV21]
1. 1 [Option ID = 17643]
2. 2 [Option ID = 17644]
3. 3 [Option ID = 17645]
4. 4 [Option ID = 17646]

65)

Match List I and Last IT :

List I List IT

(A) Veena Mazumdar (I) Initiated capacity building for women
in Higher Education Programme

(B) Neera Desal (I) Founder of centre for women
development studies supported by
ICSSR

(C) Armaity Desal (III) Founder of Institute of Social Studies
trust

(D) Devaki Jain (IV) Founder of the research centre for

Women's Studies in SNDT Women's
University

Choose the correct answer from the options given below :

4y
@
(3
4

(A)-(D, (B)-dI), (C)-(II). (D)-AV)
(A)-(ID). (B)-(IV). (C)-(@). (D)-(ILI)
(A)-(ID). (B)-(IID), (C)-AV). (D)-(D
(A)-(III). (B)-(OV). (C)-(I). (D)-(II)

T 1% |19 g1 I = faers it

(A)

(B)

(©)
D)

= I

=1 aFEER (D F= o +Ewg 5 AfeeAAl + fou a9ar-
= Zm D . . vE. v, W, g wEide A
AT 2T (IIT) 9T AT =8 HEAH F1 eI
ZaFl A (IV) wH. wA. 9. . afeen fvatmmes 9 afEe

HETT I g I TEATH

e fau o faet § @ @E I # = i

1)
(2)

(A)-(D. (B)-aI). (C)-I). (D)-IV)
(A)-(II). (B)-(IV). (C)-(D). (D)-(III)



(3) (A)-(ID), (B)-(IIT), (C)-(IV), (D)-(T)
(4 (A)-(I10), (B)-(IV), (C)-(I). (D)-IT)

[Question ID = 4546][Question Description = Q65_WS_SHAAN_NOV21]
1. 1 [Option ID = 17647]
2. 2 [Option ID = 17648]
3. 3 [Option ID = 17649]
4. 4 [Option ID = 17650]

66) \latch List I and List IT -

List I List IT
(People) {Organisations)
(A) Nish Bora (I' Control Arm Foundation and Manipur
women Gun-Survivor Network
(B) Binalakshmi Nephram (I) El Rhino-Saving rhino and generation
of livelihood
(Cy Alana Golmel (IIT) North east support centred helpline for
fighting discrimination against
North-East People
(D) Hasina Kharbhin (IV) Impulse — NGO in Meghalaya fighting
against trafficking

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(ID). (C)-(I1ID). (D)-(IV)
(2) (A)-(II). (B)-(I). (C)-(III). (D)-(IV)
(3) (A)-(III). (B)-(II). (C)-(IV). (D)-(I)
(4) (A)-(IT). (B)-(I). (C)-(IV). (D)-(ILI)

g=il 1 @1y g [T %1 faers it

T 1 =11

(A) fem = (@ g A FESA AR AU faEe
TH-HEEE 29

(B) s T D) ©E T — Ham TS U SRIE %
GIECEIE

(C) 1= Miews (III) 1% T T9e " U3 FeueiEd HH WEE
iR sm== 19 $= dige

(D) wEm S (V) 39e8-t3 Sff o1, JoeE - TR0 % g
I KA

F1= f2u U el 9 9 =E T H = Fi

1 A)-D, B)-D). (C)-(IID), (D)-AV)
(2)  A)-D). (B)-D),. (C)-(ID). (D)-IV)
(3) (A, (B)-0D). (CO)-(IV). (D)-(D
(4 (A)-ID. (B)-(D). (C)-(IV). (D)-(IID)

[Question ID = 4547][Question Description = Q66_WS_SHAAN_NOV21]
1. 1 [Option ID = 17651]
2. 2 [Option ID = 17652]
3. 3 [Option ID = 17653]
4. 4 [Option ID = 17654]

67) Match List I and List II :

ListI List IT
Women Leaders Country

e e S mmiy = = R i 2



LAy
(B)
(©)
(D)

AllFeld Vierkel
Sanna Marin
Jacinda Arden

Tsai-Ingwen

\) riniand

(IIY) New Zealand
(ITT) Germany
(IV) Taiwan

Choose the correct answer from the options given below :

1 A-IV). B)-dD. (C)-(ID). D)-d)
@  @-@. ®-1D. (©)-aID. D)-AV)
3 @A)-aD. (B)-ID. (O)-aV). (D)-D
@ A-ID. B)-O. (©)-1D). O)-aV)
T 1+ a1 g 11 =1 e Fifm)
=1

(A) U HTEE

(B) == WE

(C) ==t s

(D) 7\ A

4 fou o faewl 6 & @8 = w1 9= iy

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(ID). (O)-(III). (D)-(D
(A)-(D). (B)-ID), (O)-(I1ID), (D)-AV)
(A)-(ID). (B)-(IID). (C)-AV). (D)-(I)
(A)-(IID. (B)-(D. (C)-(1I). (D)-AV)

TT-11

3
@ s
(D =S
IID) =

(IV) @zam

[Question ID = 4548][Question Description = Q67_WS_SHAAN_NOV21]

A W N -

68)

(A
(B)
(©)
(D)

1 [Option ID = 17655]
2 [Option ID = 17656]
3 [Option ID = 17657]
4 [Option ID = 17658]

Match List [ and List I1 :

List I

Author

Audre Lorde
Sojourner Truth
Patricia Hill Collins
Alice Walker

List IT
Work
(I) Black feminist thought
(IT) Age race class and =ex
(ITT) In search of our mothers garden
(IV) Ain'tIa woman

Choose the correct answer from the options given below :

4y
@
(3
4

(A)-(ID), (B)-(IV). (C)-(1). (D)-(I1I)
(&)-(ID), (B)-(I1D), (C)-(IV), (D)-(D)
(A)-(ID), (B)-(III). (C)-(), (D)-IV)
(A)-(0), (B)-(II), (C)-(I1I), (D)-(IV)

o=t I =19 gt I =1 foers it



o o~

-1 =11

(A) TS =S D = B 9

(B) R Zd (D) w=, @, 7 U 5
(C) dfzfen = Fiferw (II]) =7 5+ 3% A A6 A
(D) e = AV) ©= 35 5 FH

9= f3u U REEEeT 9 @ =R I = i

1) (A-dD. (B)-0V). (O)-[). (D)-(I1IL)
2 (A-dD. (B)-(ID, (C)-IV), D)-[
(3)  (A-aD. B)-IID. (C)-(D), (D)-IV)
4)  (A-D. B)-1D. (O)-ID. (D)-aAV)

[Question ID = 4549][Question Description = Q68_WS_SHAAN_NOV21]
1. 1 [Option ID = 17659]
2. 2 [Option ID = 17660]
3. 3 [Option ID = 17661]
4. 4 [Option ID = 17662]

69) Match List I and Last IT :

ListI List I
{(Schemes) (Merger)
(A)  Mudra scheme (I) State Bank of India
(B) Bharatiya Mahila scheme (II) District Industries Centre
(C) Trade Related Entrepreneurship (IIT) Sishu. Kishore. Tarun
Aszsistance and Development
(TREAD)
(D) Prime Minister Employvment (IV) Micro. Small and Medium Enterprises
Generation Programme (PMEGP) Development Institute (MSMEDI)

Choose the correct answer from the options given below :

(1) (A)-IV). (B)-(I). (C)-(III). (D)~(IT)
(2) (A)-(ID). (B)-(I), (C)-(IV). (D)-(11I)
(3) (A)-(III). (B)-(I). (C)-(IV). (D)-(II)
(4) (A)-(IL). (B)-(IV). (C)-(IIT). (D)-(D)

7=t 1% @y gt I =1 fiem Sifsm)
71 THII
(&) =T AT @) HwdE =2 5% & we fae
(B) |WAM FiEe TrsAl (AD e == 2
(C) =amm wadi safgar Semar vd fawm (LD fore, feeme, @or
(TREAD)
(D) waEET T g A (PMEGP) (IV) gem, =g SR A IEE fEE S

(MSMEDI)
Jr= f2u 7o et o 9 @E 3 = == it

FE Y FAYN STy /Y /T A0™ /A TTTSY /Ty /TITY



b et
(2)
(3)
(4)

(A4)-(D). (B)-(D). (C)-(IV). (D)-(IID
(A4)-(IID). (B)-(D, (C)-(IV). (D)-{ID
(A)-(ID). (B)-(IV). (C)-I1D). (D)-(D

[Question ID = 4550][Question Description = Q69_WS_SHAAN_NOV21]

1. 1 [Option ID = 17663]
2. 2 [Option ID = 17664]
3. 3 [Option ID = 17665]
4. 4 [Option ID = 17666]
70) . ;
Match List I and Last IT :
List I List IT
Concept Explanation
(A) Dysphoria (I)  Discrimination based on gender
(B) Sexism (I)) The absence of appropriate gender
1dentity
(C) Cis-Gender (III) Ignoring gender as an Important social
wvariable
(D) Gender Insensitivity (IV) Sex and Gender identity match
Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II). (C)-(II). (D)-(IV)
(2) (A)-(D), (B)-(II), (C)-(I1I), (D)-IV)
(3) (A)-(IT). (B)-(I1T). (C)-(IV), (D)-(D)
(4) (A)-(ID). (B)-(T). (C)-(IV). (D)-(IIT)
T 1 = It I 1 e Fifam)
-1 T=-I1
(A) TeaTHfE @) st AE deuE
(B) =rERE (Sexism) (D) J99 F=L Ug=E =i FIEatd
(C) fom—== () TF HEcaqol @EISH W F &9 § 7T A
EEC

= fou v fahedl 9 B WE I W 99 A0

(1)
(2)
(3)
4)

(A)-(D). (B)-(I1I). (C)-(1I). (D)-(IV)
(A)-(D, (B)-aD). (C)-(IID). (D)-AV)
(A)-(ID). (B)-(IID). (C)-aV). (D)-(I)
(A)-ID), (B)-(D). (C)-(IV). (D)-(IID)

[Question ID = 4551][Question Description = Q70_WS_SHAAN_NOV21]

AW N =

71)

1 [Option ID = 17667]
2 [Option ID = 17668]
3 [Option ID = 17669]
4 [Option ID = 17670]

Match List I and Last IT :

List I
(Concepts)

List II
(Explanation)



(A) Power over

(B) Power with

(C) Power to

(D) Power within

(I)  Power 1s built on force, coercision,
domination and control

(IT) Shared power that grows out of
collaboration and relationships

(III) Productive or generational potential of
power

(IV) Related to person’s sense of self worth
and self knowledge

Choose the correct answer from the options given below :

1) @M. B)-dD), (C)-11D). (D)-AV)
(2 (A-aD. B)(IID). (C)-(IV). (D)-D
(3)  (A)-ID. (B)-AV). (C)-(D). (D)-AD
@ (A-AV), (B)-(D). (C)-(II). (D)-(ILD)

o= 1+ @ g 1T %1 faerm ifa)

EEIB!

(A) @ 7itF (Power over)

(B) = =% wItw (Power with)

(C) =1 =% (Power to)
(D) T 71 (Power within)

Fi= fau v et 9 @ wE 39 B =9 Fiiaw

1)
(2)
(3)
(4)

(A)-(D. (B)-AD), (O)-(I1D), (D)-IV)
(A)-(ID). (B)-(IID). (C)-AV). (D)-(D)
(A)-(IID), (B)-(IV), (C)-(). (D)-AD
(A)-IV), (B)-(D. (C)-(D). (D)-(I1D)

Tt 11
AT
@ it w1 Ao gEE, WA, uged #HR
T BT 2
(D) =l wifF =1 Geam S gEdl o fSwia
=T 2|
(III) =IF =1 oI5 A1 IearT=Teh ST

[Question ID = 4552][Question Description = Q71_WS_SHAAN_NOV21]

AW N =

72)

1 [Option ID = 17671]
2 [Option ID = 17672]
3 [Option ID = 17673]
4 [Option ID = 17674]

Match List T and List IT :

ListI
(Movements)
(A) Blank Noise
(B) Slut walk
(C) Pinjra Tod (Break the cage)
(D) Pink Chaddi (Underwear)

List IT
(Issues)
(I) Against eve teasing
(II) Sexist curfew rules in student hostels
(ITII) Moral Policing
(IV) Victim blaming

Choose the correct answer from the options given below :

(L (A-D. B)-IV). (C)-1D). (D)-1ID
(2)  (A)-ID. (B)-(ID). (C)-(IV). (D)-(I)
(3)  A-IV). B)-dD, (C)-(1). (D)-(IID



(4)

(A)-(II). (B)-(IV). (C)-(111). (D)-(D)

T 19 719 I=h 11 1 e Fifsm)

(A)
(B)
(©

(D)

=1 T -I1

A A (I) wfEensAl 4 S50 F @9y

=42 A1 AD) DrEmEE | o snaria =
o= ars (III) =fa ==ER (Moral Policing)
[REdEET (IV) fifsar 7 Fmm

4 fou e fapeui | @ 98 3 @ 994 A

(1)
2
(3)
4

(A)-(D). (B)-AV). (C)-(ID). (D)-(I1T)
(A)-(D). (B)-(IID). (C)-AV). (D)-(I)
(A)-(IV). (B)(ID). (C)-(I). (D)-(1ID)
(A)-(II). (B)-(IV). (C)-(I1I). (D)-(D)

[Question ID = 4553][Question Description = Q72_WS_SHAAN_NOV21]

A wWw N -

73)

1 [Option ID = 17675]
2 [Option ID = 17676]
3 [Option ID = 17677]
4 [Option ID = 17678]

Match List I and List IT :

ListI List IT
(Women's Magazine) (Country)
(A) MS Magazine (I) India
(B) Manushi (Il UK
(C) Bluestocking (III) USA
(D) SpareR.b (IV) Japan

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(I), (B)-aD). (C)-(I1D). (D)-(IV)
(A4)-I). (B)-(I). (C)-(1II), (D)-AV)
(4)-(1D). (B)-@). (C)-V). (D)-1D)
(A)-0V), (B)-(D). (C)-(ID). (D)-(ILI)

Tt 1% = I I e it

(&)

(©

(D)

T =11

i g @ urd

kel (D FEes e
TR (IIT) FIF T SFHH

o fim @IV) =



Fr f3u U e |§ | @E I S == i

1 (A)-D, (B)-AD. (C)~IID). (D)-IV)
(2)  (A)-dD. (B)-(D). (C)~1ID). (D)-AV)
(3  A)-dD, B)-@. (C)-aV). (D)-ID
4 (A-AV), (B)-D). (C)-(D). (D)-(IID)

[Question ID = 4554][Question Description = Q73_WS_SHAAN_NOV21]

1. 1 [Option ID = 17679]
2. 2 [Option ID = 17680]
3. 3 [Option ID = 17681]
4. 4 [Option ID = 17682]
74) " Match List I and List IT :
List I List IT
(A) Annie Besant (I)  Green Belt Movement
(B) Kasturba Gandhi (I) Swadeshi Movement
(C) Sabbama (ITT) Salt Satyagraha Movement
(D) Wangari Maathai (IV) Home Rule Movement

Choose the correct answer from the options given below :

(1 A)-IV), (B)-ID. (C)-(I). (D)-IID)
(2  A-0V), B)-dID. (C)-dI). D)-(M
(3  @-D. B)-dD), (C)-dII). (D)-IV)
4 @-D. (B)-II), (C)-dV). (D)-dD

Tt 1% a9 gt I =01 fiem ifsm)

=1 T=-11
A) @ =@ v s
B) T me (1)  T=eef A=A
(©) T (1) 7% TR A=
(D) =t T @AV) =@ & A=A

Hr fau T fompel § © BE 39 W 9 FiiAw

(1)  (A)-IV). B)-1D. (C)-(1D). (D)-(I1L)
2 (A-aV). B)-IID), (C)-D), M)-D
3  (@-O. (B)-ID. (O)-II), (D)-aAV)
@  (A-[. (B)-II), (C)-(IV). (D)ID

[Question ID = 4555][Question Description = Q74_WS_SHAAN_NOV21]
1 [Option ID = 17683]
. 2 [Option ID = 17684]
3 [Option ID = 17685]
4 [Option ID = 17686]

AW N =

73) Mateh List [ and Last IT :



(A)
(B)
(©)
(D)

ListI

Proponents

R.W. Connell
Sandrow Harding
Nancy chodorow

Judith Butler

List IT

Theories
(I) Stand points Epistemology
(II) Relational theory
(TIT) Queer theory

(IV) Hegeneonic masculinty

Choose the correct answer from the options given below :

(1)
2
(3)
4)

(A)-(II). (B)-(D). (C)-(IV). (D)-(IID)
(A)-(IID), (B)-AV), (C)-(I). (D)-(ID)
(A)-AV). (B)-(D. (C)-(ID). (D)-(ILD
(A)-(IV). (B)-(II). (C)-(D). (D)-(ILL)

7= 1% @y gt 11 =1 e =it

(A)
(B)
(©)

D)

gHI-T
TAEE
BlER R

= {30 U fpeT 9 | wE 3w = A

(1)
(2)
(3)
(4)

(A4)-(ID). (B)-(D. (C)-aV). (D)-(IID)
(A)-(IID), (B)-(IV). (C)-(I). (D)-(1I)
(A)-IV). (B)-(D. (C)-(II), (D)-(I1I)
(A4)-AV). (B)-(D). (C)-(D). (D)-(I1D)

A T fod
(II) T foradd

(IV) ==Hif= Byt

[Question ID = 4556][Question Description = Q75_WS_SHAAN_NOV21]

AN wnN -

76)

(&)
(B)
(C)
(D)

1 [Option ID = 17687]
2 [Option ID = 17688]
3 [Option ID = 17689]
4 [Option ID = 17690]

Match List I and Last IT :

TastI
Gynarchy
Gynelatory
Gynocracy

Gynophobia

List IT
(I) Worship of women
(II) Women's rule
(ITT) Aversion to or fear of women

(IV) Government by women

Choose the correct answer from the options given below :

(1)
(2)
(3)

FY LY

(A)-(I). (B)-(D). (C)-(I1I). (D)-(IV)
(A)-(IV), (B)-(11). (C)-(11I), (D)-(I)
(A)-(D). (B)-(1ID. (C)-(1I). (D)-AV)

I R e e e e e =t e = = =]



VE) =LAV ) WD), -2, WAL

T 1% 719 g1 I = faem Fife)

=1 111
AT T
(A4) =mEmE @ e F oo
(B) i (IT) f&=1 =1 794 (Women's rule)
(C) #iaa (1) ferat = wfa w2 31 fagma
(D) =Hiedifa (IV) 541 gm =59 (Government by Women )

= fam T e 9 I TE I 1 == i

1) A-D. B)-AD. (C)-1I). (D)-AV)
2  A-IV), (B)-aI). (C)-(I), (D)D)
(3)  (A)-D. (B)-dID. (C)-1ID. (D)-(IV)
4 (A-IV). (B)-D). (C)-(D). (D)-(IID)

[Question ID = 4557][Question Description = Q76_WS_SHAAN_NOV21]
1. 1 [Option ID = 17691]
2. 2 [Option ID = 17692]
3. 3 [Option ID = 17693]
4. 4 [Option ID = 17694]

77 ; ; :
) Arrange 1n sequence the women centred movement for the protection of environment,

livelihoods for biodiversity :

(A) Navadanya

B) Chipko movement

(C) Narmadha Bachan Andolan

(D)  Appiko movement

Choose the correct answer from the options given below :

1 B, (©C). D). &)
@2 (O, D). ). (B)
3 (B. D). A).©
@ @, B). D). O

T
(A) A
®) fug=

(C)  H=1 F=na AR

(D) o EEE



Fi= fau U et 4 @ wE 39 B =9 Fiiaw

1 (B, (C). D). @A)
@  (0.D).A.B
3 (B D). A).(©)
@ A). B D). (©)

[Question ID = 4558][Question Description = Q77_WS_SHAAN_NOV21]
1. 1 [Option ID = 17695]
2. 2 [Option ID = 17696]
3. 3 [Option ID = 17697]
4. 4 [Option ID = 17698]

78) Arrange the following in the order of sequence. under NABARD SHG Schemes of Support

(A)  Micro Enterprise Development Programme
B) Livelihood enterprise development programme
(C) Village level programmes

D) NABARD financial Services

Choose the correct answer from the options given below :

L B. A, D). (©)
@ O.A).©). B
3 A (©).([B). D)
4 (©).D).A).[B

- - ™ L s L2 % % [y - Pl
Feferiiad F1 T (NABARD) =59 HaEdl 958 T9YH I5H1 & 3019 FHTHN =aaiedy Hif:

(&)  TEm FEm T wEEA
B) st = fawm FEE
(C)  wH =W HEEA

D) === (NABARD) #a1fée Hand

S fou U faedi 5§ TE I w0 99 i

1 (B.@A). D). (©)

@ (D). (A).©), B

(3) (A (C).(B). D)

4 (C). D). A B
[Question ID = 4559][Question Description = Q78_WS_SHAAN_NOV21]
1. 1 [Option ID = 17699]
2. 2 [Option ID = 17700]

3. 3 [Option ID = 17701]
4. 4 [Option ID = 17702]



79)

&)
(B)
©)
D)

Arrange the following books in the order in which they were published

The origin of family. private property. and the state
The second gex
The feminine mistique

the Dialectics of sex

Choose the correct answer from the options given below :

(1)
(2)
(3)
4

(A). (B). (C). (D)
(B). (C). (D). (A)
(C). D). (A). (B)

(D). (A). (B). (C)

AT T 1 39 THEE F FEEAEEN S Tad i -

(A)  gfEm, [ Hufe w3 asg i sef

®) 7 Fs

(C) = sl o=

D) = SHEclfFFE TF g90

4 fou o faewl § & @8 3 99 i

1 A).®B. ). D

@  B.0). D). A

3  (©).@D).A).[B)

@4 (D). @A).®B).(©)

[Question ID = 4560][Question Description = Q79_WS_SHAAN_NOV21]
1. 1 [Option ID = 17703]
2. 2 [Option ID = 17704]
3. 3 [Option ID = 17705]
4. 4 [Option ID = 17706]

80)

Aa)
(B)
©)
(D)

Sequence the establishment of the following institutions/commissions :

Central Social Welfare Board
National Institute for Public Co-Operation and Child Developement
National Commission for women

Human Rights Commission

Choose the correct answer from the options given below :

(1)

(A). (B). (©). (D)



2
(3
@

(B). (C). (D). (&)
(©C). D). A). (B)

(D). (A). (B). (C)

Tpfefiga TeAM1 [ ST i T % AR e i -

@ -

Feo D THTS g JiS

(B) TEE AT TR Ud A I

(C) T e A

(D)  AHEGER A=

(8Y)
2
(3
@

[Question

o TSl § H HEl 3 F 98 I

(A). (B). (C). (D)
B). (C). (D). (A)
(C). D). (A). (B)
D). Q). (B). (C)

ID = 4561][Question Description = Q80_WS_SHAAN_NOV21]

1. 1 [Option ID = 17707]
2. 2 [Option ID = 17708]
3. 3 [Option ID = 17709]
4. 4 [Option ID = 17710]

81)

(A)
(B)
©)
D)
(E)

Arrange the different stages of women's empowerment in descending order

consclousness raising and identification of conditions leading to powerlessness
powerleszsness

leadership building and support from social network

personal freedom and acecess to and control over resources

ability to make decision

Choose the correct answer from the options given below :

(1
2
(3)
@

(B). (A). (E). (D). (C)
(A). (B). (C). (D). (E)
(B). (C). (D). (A). (E)
(B). (E). (A). (C). (D)

HiEeT TR = faie =won =1 3TatE %9 9 o

(A)  TEEAT 9EET T IAhAAT 300 A ST [ 1 T

B)  wfw A

(C) =g Fwm 3 = F2a & THdA

(D)  FAHE T AT FEEA 9% Ted N 3 W A



(E) i =4 =i g

4 fou e fawewi | © @8 I w1 9= i

1 B). A (E), D). (C)
@ @) B (O). (D). (E)
(3)  (B).(C). (D). (A). (E)
@ (B). (E). @A) (©). D)

[Question ID = 4562][Question Description = Q81_WS_SHAAN_NOV21]
1 [Option ID = 17711]
2 [Option ID = 17712]
3 [Option ID = 17713]
4 [Option ID = 17714]

A W N -

82 =
) Arrange the following in the order of sequence

(A) Protection of Children from Sexual Offences Act
(B) Dowry Prohibition Act

(C) Protection of Women from Domestic Violence Act
(D)  Hindu Marriage Act

(E) Dissolution of Mushm Marriages Act

Choose the correct answer from the options given below :

1) (A).(©). D). (E. (B)
2 (E). D). ®B).(O). &)
3 (B).(E). D). A. O
@ (D). ®.E).©).HN

ATInad i FATAR =Adwad Hifa;

(A) A sromEl § s o g At
®) = Fi sfufeEm

(C)  wieg femm & wizewatt =1 guam wAtatm
D) fo= faam s

H= f3u o el @ W R I S =9 i

(1 A (C). (D). (E). (B)
2  (E). D). ®).(C). &)
(3 @B, (E). D). A).©)
4 (D). (B). (E). (©). (A)

[Question ID = 4563][Question Description = Q82_WS_SHAAN_NOV21]
1. 1 [Option ID = 17715]



2. 2 [Option ID = 17716]
3. 3 [Option ID = 17717]
4. 4 [Option ID = 17718]

83) Arrange the following steps in correct sequence for structing the research in social sciences

(A) Pilot study
B) Selection of Research Technique
(C) Defining Research Problem

(D) Review of literature

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D)

(2) (B). (A). (D) and (C)
(3) (C). (D). (B) and (4)

(4) (D). (C). (A) and (B)

ey
E ]

ATl fam(sT) ® g i @ & fon FSefotaa 2w @ 9 @8 w9 6 SgEn satedd it -

NI e o
(B) g FATE H1 g
(C) =y =mE F e

(D) = Fr g

= T30 7o feeRed © | @R I W =9 i
D A, ®). () (D)
@ B QA). D) = (C)
@  (©). D). B) A

@ D)0, A (B

[Question ID = 4564][Question Description = Q83_WS_SHAAN_NOV21]
1. 1 [Option ID = 17719]
2. 2 [Option ID = 17720]
3. 3 [Option ID = 17721]
4. 4 [Option ID = 17722]

84) Arrange the following in sequence :

(A) Committee on the Empowerment of women
(B) National Perspective plan for women
() All India Women's conference

(D) The Women's Indian Association

Chooze the correct answer from the options given below :



(1)

(A). (B). (C). (D)

@  ®.©).D. "
@  (©). D). ®.®
@  D.(©.®. &

(A) Tzt F TurRhERD FEdT Bl

(C)  wifiger wndim Atz aeied

D) = o e vEheE

1)
@
(3)
4

o feReTl § O HE 39 S SO i

A). (B). (O). (D)
B). (C). (D). (A)
(©). D). (B). (A)

D). (O). (B). (A)

[Question ID = 4565][Question Description = Q84_WS_SHAAN_NOV21]
1. 1 [Option ID = 17723]
2. 2 [Option ID = 17724]
3. 3 [Option ID = 17725]
4. 4 [Option ID = 17726]

85)

Given below are two statements :

Statement I : Women's participation and engagement in politics still has its challenges

and obstacles.

Statement II : Active participation of women in politics is determined by the political

In

(1)
(2)
(3)

(4)

culture, social freedom and gender equations in society

the light of the above statements, choose the correct answer from the option given below :

Both Statement I and Statement IT are true
Both Statement I and Statement II are false
Statement I is true but Statement II 1s false

Statement I is false but Statement II is true

i 21 oA fae e g

Exicl

TSI | Aizens i AriERl S 39 T3 § Al Wi gAieET S ey 3



w9 I1:  ToHiE ° afzenat 61 arfEdt oo § Tofifas 505 amfas Haaar i J=t oo &

o1 Fatfa =4 2

I HYE F AR H, A= 2T T e 8 ° "8 39 = i

(1) =99 3R L2 o 2

(2) w1 HAR =M a7 2

(8) w173 2, Wi Fom 11 o7 7
(4) w13 2, o By 8 2

[Question ID = 4566][Question Description = Q85_WS_SHAAN_NOV21]
1. 1 [Option ID = 17727]
2. 2 [Option ID = 17728]
3. 3 [Option ID = 17729]
4. 4 [Option ID = 17730]

86)  Given below are two statements :

Statement I : There is an increasing recognition that development is gender-neutral.

Statement II : Gender relations are an aspect of broader social relations and like all social

relations are constituted through rules. norms and practices

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

@) Both Statement I and Statement IT are incorrect
{3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

4 @1 FoF Tou T 2

FoAI: A 9 HI SAHTGE g e w2 T e s e 2

IR F2F & AF °, T 7 T G § ¥ ge" 30w I 1 99 i
() = I3 oM =6 2
(2)  ® I3 I AT o 2

(3) Fo [ T8 7, w5 e [ 7ed 2

(4) =2 Lo B, S Fod [ EE 2



[Question ID = 4567][Question Description = Q86_WS_SHAAN_NOV21]
1. 1 [Option ID = 17731]
2. 2 [Option ID = 17732]
3. 3 [Option ID = 17733]
4. 4 [Option ID = 17734]

87)

Given below are two statements :

Statement I : Gender bias is a part of social system which has roots in the family and the

process of socialization

Statement II : A female child imbibes values which largely stand in the way of her

development and empowerment

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4 Statement I is incorrect but Statement II 1s correct

= 21 FeE f2m o E

FEL: SIS AR ST e 9 2 e =g afew o wnstEe i atm b 2

FoF IL: T a3 geAl I RN Al A N SHushal I IE S S i T ° e

N
o &

I A A A, A e T et A @ med ST I w0 9 R

ey

2

3)

4)

w31 [I M =81 2
e [ 3R I1 M1 7o 7
FuA [H31 2, wtFa %o 107 2

FeH [ Ted 2, =T Fa9 [LHE 2

[Question ID = 4568][Question Description = Q87_WS_SHAAN_NOV21]
1. 1 [Option ID = 17735]
2. 2 [Option ID = 17736]
3. 3 [Option ID = 17737]
4. 4 [Option ID = 17738]

88)

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R :
Assertion (A) ; Women and Girls are the worse sufferer of Gender based violence
Reason (R) : Gender based violence arise out of unequal distribution of power and

resources under patriarchy.

In the light of the above statements, choose the correct answer from the options given below :



(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 1s false but (R) i=s true

I = FeE 7o R

woF I1: st sTdiie oo fge & St=oia oih 371 TETeE1 & THaH 90w ¥ 300 7t 2|

I T F A °, 19 120 0 G 5§ T8 39 #0991 i

(1) =9 L3R I 2MT o 2
2 =wua 3R II3ET T 2
(8) U LG 2, b % I 7ed &
(4) =9 I7od 7, wieT %o [Ioe 2

[Question ID = 4569][Question Description = Q88_WS_SHAAN_NOV21]
1. 1 [Option ID = 17739]
2. 2 [Option ID = 17740]
3. 3 [Option ID = 17741]
4. 4 [Option ID = 17742]

89)  Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :
Assertion (A):  Micro-Finance proved effective means for economic empowerment of
economically backward women.
Reason (R) : Economically backward women are mostly denied access to formal credit for

the lack of access to resources

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

= 21 e T2 o g

w1 gEm fa anfis =9 5 fusd afemer % anfds aefe & gwEsnt @ fBEg gan 2

Fo I1:  wfos ®9 8 [Usdl qfea gene aF 96 95d & Swd J sAlae: s w0 g1 8
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g L 31 Al 3|

ITUH YA T A H, A (90 T e 0§ 98 39 9 =99 i

M
2
(3)

(4)

Fe[ I 3R I 2M7 o3 2
Fu 1 317 I 241 7T 2
FeH [ T8 2, ST a9 I 7o 2

Fu [ 71emd 2, =t F9a L a9 2

[Question ID = 4570][Question Description = Q89_WS_SHAAN_NOV21]
1. 1 [Option ID = 17743]
2. 2 [Option ID = 17744]
3. 3 [Option ID = 17745]
4. 4 [Option ID = 17746]

90)

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A):  The National Rural Health Mission has been sueccessful in improving health

condition of the poor families in the village.

Reason (R) : The Accredited social Health Aectivist are playing important role In

In

providing health care services to the ready families.

the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) is true

= = Fe fao oo E:

Ex el

=y 11 :

e A EmEes faem i wE aiEn & w=e # Tl | gun | 99 w2

r r . . Y o, & e Y r
HI-dT 91H Hll-llrﬂth M shldhdl A%=IdHg qi{ﬂ T =l = Hg0 305 /4 H Hﬁr_cWUT

T HI F AT 4, J= 150 10 faheui 4§ FE 36 0 =6 i

(&)
2
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(4)

Fo 1 3R I =M &2 7

99 1 31 I1 247 Teid 2

Fuq 1 T8 2, = 799 [ 7o 7

Fue 17 2, e wud [LE8 7

[Question ID = 4571][Question Description = Q90_WS_SHAAN_NOV21]
1. 1 [Option ID = 17747]



2. 2 [Option ID = 17748]
3. 3 [Option ID = 17749]
4. 4 [Option ID = 17750]

Topic:- 74WS_B

1)

Read the passage given below and answer the questions number :

According to International Labour Organisation (ILO). unemployment remains unacceptably
high especially among women. Two billion of world's employved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been in the increasing access to education. with positive implications for women and girls life
chances. In developing countries. secondary education attendance 1s correlated with declines
in early marriage and adolescent child hearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition. the narrowing gender gaps In education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify their voices within and beyond
their families from economic deprivation.

Which of the following areas ILO advocates. to be focussed upon for closing the gaps In
achivements for women and girls

(1)
(2)
(3)
(C)]

to motivate women to take up economic opportunities
to provide access to higher education
to close the gaps in achivements of minority ethnic groups and rural poor households

to close the gaps 1n achieving the needs of adolescent girls

HAGA 58 T3 % AT HiEensl) i Sfermal & o Iueagi § of # 92l % fou et 5 3
0 & W S Ffgd F 6 AT 7 7

1)
2
(3)
4

=1 forem o TEE WEE F
AeUEEEF TAEA FYE AR Fre i afEmnt i svefeEi § o w5

o aferaiat 1 AEvawaen $1 9fd & 573 = we

[Question ID = 4577][Question Description = Q91_WS_SHAAN_NOV21]

A WN -

2)

1 [Option ID = 17771]
2 [Option ID = 17772]
3 [Option ID = 17773]
4 [Option ID = 17774]

Read the passage given below and answer the questions number :

According to International Labour Organisation (ILO). unemployment remains unacceptably
high especially among women. Two billion of world's employved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has

[ ki T i S e o e L~ R I S T o= SRR el MG e e R R e 0o, - M SR D g o I DR ot S s R e ST L e g -
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chances. In developing countries. secondary education attendance 1s correlated with declines
in early marriage and adolescent child hearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnie groups and those in the poorest households

In addition. the narrowing gender gaps in education have not been matched by similar
improvements 1n labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplifv their voices within and bevend
their families from economic deprivation.

Which of the following can be attributed as the consequences of expansion of secondary
education for girls in developing countries

(A) Decline in early marriage among girls
(B) Reduction in adolescent child bearing
(C) Improved access to health care facilities

(D)  More women into skill development

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (B) only

Fteriga o & fra-fre viome =1 2= fommeeie <o | qrats e % fT=mn =i o s awa 27
A) ey Ao e d e

B) Fror afEme § Saeeats § =0

(C) AW Ti=El GEWE 7% 95 7 W

2 s ¥ - et E;
(D) =T TIHTH H TS HIRTY,

i3 feu femenl & w1 30 0 = A
(1) A4 (A) SO (2) = (A) FE (B)
(3) ¥ (C) 37 (D) (4) F=7 (D) #7 (B)

[Question ID = 4578][Question Description = Q92_WS_SHAAN_NOV21]

1. 1 [Option ID = 17775]
2. 2 [Option ID = 17776]
3. 3 [Option ID = 17777]
4. 4 [Option ID = 17778]
3) Read the passage given below and answer the questions number :

According to International Labour Organisation (ILO). unemployment remains unacceptably
high especially among women. Two billion of world's employed population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work.
women tend to occupy the more disadvantaged positions and are more likely than men to
work iIn more vulnerable settings including as contributing family workers and home based
workers., Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been in the increasing access to education. with positive implications for women and girls life
chances. In developing countries. secondary education attendance is correlated with declines
in early marriage and adolescent child hearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition. the narrowing gender gaps in education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify their voices within and beyond
their families from economic deprivation.



Given below are two statements :

Statement I : Most women takes up informal work not by choice but as a result of the lack

of opportunities in the formal economy.

Statement IT : Women benefit from the earnings of the other members of the family and

In

the intra household transfer has been quite favourable to women.

the hight of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)

(4)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1= correct but Statement II 1s incorrect

Statement I 1s incorrect but Statement II 1s correct

= 31wy f2w T E:
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(3)

(4)

e I 31 [ 3A1 &4 2
F9A I 31 IL 3MT Terd 2
F99 [ @7t 2, e a1 e 2

Fo 1o 7, e Fea [ 991 7

[Question ID = 4579][Question Description = Q93_WS_SHAAN_NOV21]

A W N -

4)

1 [Option ID = 17779]
2 [Option ID = 17780]
3 [Option ID = 17781]
4 [Option ID = 17782]

Read the passage given below and answer the questions number :

According to International Labour Organization (ILO), unemplovment remains unacceptably
high especially among women. Two billion of world's emploved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage. presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been In the increaszing access to education, with positive implications for women and girls life
chances. In developing countries, secondary education attendance 1s correlated with declines



1n early marriage and adolescent chiud bearing. More wWwork remains to be done interms ol
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition. the narrowing gender gaps in education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify their volces within and beyvond
their families from economic deprivation.

According to International Labour Organization (ILO). which of the following is true.
regard to current concern on women's employment

(1) Increase in employment among women
(2) High unemployment
(3 Declining female education
(4) No safety net for women workers

AT 8 BT (AT U A1) F ATAN Aeensdi ® AT F€e aqeE famet 8 F et § 3 @
(1)  =feeren + = 5w § 3 (2) == sET

(3)  #i TE ° e (4) HAfEen w1 F Tofe, T =1 =1 A9E

[Question ID = 4580][Question Description = Q94_WS_SHAAN_NOV21]

A WN -

5)

1 [Option ID = 17783]
2 [Option ID = 17784]
3 [Option ID = 17785]
4 [Option ID = 17786]

Read the passage given below and answer the questions number :

According to International Labour Organisation (ILO). unemployment remains unacceptably
high especially among women. Two billion of world's employved population. representing 61.2%
of global employment. work in the informal sector. Informal work refers to work carried out in
the absence of labour regulation and with little or no social protection coverage, presenting a
major challenge for sustainable development. Within the broad category of informal work,
women tend to occupy the more disadvantaged positions and are more likely than men to
work in more vulnerable settings including as contributing family workers and home based
workers. Further more. most people take up informal work not by choice but as a result of
lack of opportunities in the formal economy. One of the main gain of the past two decades has
been in the increasing access to education. with positive implications for women and girls life
chances. In developing countries. secondary education attendance 1s correlated with declines
in early marriage and adolescent child hearing. More work remains to be done interms of
closing substantial gaps among different groups of girls and reaching girls in rural areas.
those belonging to minority ethnic groups and those in the poorest households

In addition. the narrowing gender gaps in education have not been matched by similar
improvements in labour market outcomes and effective access for women to economic
opportunities which may enhance their well-being and amplify their voices within and beyond
their families from economic deprivation.

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A): Women are engaged increasingly 1n informal sector are in disadvantages
position without social security and work in vulnerable work settings
compared to men.

Reason (R) : Women and their work are hardly covered under labour regulations and

soclal security policies

In the light of the above statements, choose the correct answer from the options given below :

1)
Fon

Both (A) and (R) are true and (R) is the correct explanation of (A)
BPath (AY and (PY are tmie and (BY 12 not the correct avnlanation of (A)



(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

= 71 #49 f2r o 2: v SAf9wEE (Assertion A) xmq%ﬁﬂ%m@nmm (Reason R) *

Y

AR (A) AiEell FHANEE &3 0 SAadias Hanad 7 #AN s 2Eilas e & Serdmg
feufd @ 2 3R 19l i 9o § F FH F Ag0Ed T1ed § FEEd 2

F9 (R) Hizenadl AN 39 FE 1 49 [GEE S0 G GO a1 givee 3 A
[ A
e 2

IHIF FUH A A, = 50 T T 1 9 w5 3w 99 Firen

(A) 7 (R) 5H1 &3 2 # (R). (A) #i o2 =aw=n 2
(&) i (R) 51 e &, S R), (A) Fi = = 7 2
(A) T 2, AT (R) O3 751 2
(A) @eF 72 2, S (R) &cd 2

[Question ID = 4581][Question Description = Q95_WS_SHAAN_NOV21]
1. 1 [Option ID = 17787]
2. 2 [Option ID = 17788]
3. 3 [Option ID = 17789]
4. 4 [Option ID = 17790]

Topic:- 74WS_C

1)

Read the passage and answer

Dalit Women's subjugation 1s materially embedded, that 1s Dalit women are thrice
subjugated : as women. as dalit woman and as dalit women who perform stigmatised labour.
Caste inequality and exploitation is most visible, they argue in dalit and lower caste women's
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste viclence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
1mportant site of intervention.

Violence in its spectacular as well as everyday manifestation has come to represent the
inhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination. xenophobia and related intolerance in Durban. South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference. dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.

aferd gieens] 1 WA Sia® =9 4 giaEa 2-afm gean @2 2w $1 e & - 85fEer # 98w,
Zfera OfEem & 9N W 3R uF UHY i oiEen % 9 W A weithd A 2| a1 awed s e
TEIHT, FESHH S AR 1iHF MR 9% 2o #A1 FE i 5 afzea f1 s smme e
*F AT T AEE SEHEAT S A0 S B 29 2

Ziera afeerd 5= wifa i e i foeew 21 =y A, =fem afeend 2fom gt # 5uta % =9 8 o g s
£ 99 T % U A = | o g % wEEm % o giem wfeenet i feuf it wefs s e |
2 P e e & gt e e

fEa, A0 =A% ®9 F @YU TAE F A=A § Aiia-saaen i AEEE T i aietad w2 55w
forafia 2fera FE+al 50 97 F1 OE FY 0 I3 & (F 7 % 50 F0g F OEANGERE 5 TE ) g
AFF, S A 31 37 J 7 fHEe 2001 F 999 TeraE, T geuE, el g o geatua st



T AT T TEHE o A Ao H ST0ITEal sl HHE & SaEE e H UdEIEE S 3R
dre1 % Ty § w2 99 % =N 0w 3vew em Tt £ we wefie 22 2 v an, g g 3 1 96
faa1 T Sfera Wawra o HiZq HH T gieH % 3994 w0 50 3, UH.UE.EN Teeg, 9E WEA # 9% gfed
BIGIEIC R R R L o o e 1 R e o o s e e e e ]

Why have dalit feminist demanded a changed politics of feminism?

(1) because thev believe caste 1s an archaic system and not a dynamic aspect of modern
economies

(2) because they want to maintain a focus on patriarchy rather than on caste oppression

(3) because they want to root dalit women's oppression in the domain of economy only

rather than on identity politics

(4) bhecause they want to locate gendered power relations and women's oppression within
the structure of caste and class domination. inequality and social strafication

(1) =i 33 favam 2 5 S oF T == 2 7 ongfs g = afaefie we
(2)  FEIF M 3 Fi e 3 fgEe W e HiEg we = R
(3)  uEEE/ AR sraniE weEa i smen 2| sat F Ieie A wdeEE F oA 0 2w =9

H

(4) T o St I 9 Gegi- HT AR 3cdigd i S AN 91 g, Teel S0 A
T T TEAT H A T =SEa 2

[Question ID = 4572][Question Description = Q96_WS_SHAAN_NOV21]
1 [Option ID = 17751]
2 [Option ID = 17752]
3 [Option ID = 17753]
4 [Option ID = 17754]

A W N -

2) Read the passage and answer

Dalit Women’s subjugation 1s materially embedded. that is Dalit women are thrice
subjugated : as women. as dalit woman and as dalit women who perform stigmatised labour.
Caste inequality and exploitation is most visible, they argue in dalit and lower caste women's
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste violence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Viclence in its spectacular as well as everyday manifestation has come to represent the
inhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism. racial discrimination. xenophobia and related intolerance in Durban. South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference. dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.

aferd JieenaAl =i WA S w =9 9 wfEEa 22w g f9et 2w # TR E - "5Ee # G,
TEH AT @S 397 21 T 98 AT £ 6 UHl 3N wegdr g9l e B gieEE giaae A G
*F AIE § AEE SEHEAT S Y S B 2 2

Sfera afeed 3= wfa i o i foew 21 oy &, =fom afeand 2fem geat 1 gufa & =9 4 o e
#| AT WHEE F o 31 = 9 W e & 9ue o fon afed afeens i fufy it wuft % w0
% 91 i =9 § 3 sl s 2 i Ageauel meaEg i 6n A 2




fEm, oI = = % mg A o sfietn § A - f S F ot e 2
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AFF, S A 31 37 J 7 A 2001 % 993 TeaE, T geuE, el g o getia statrea
T AT I TEEE % SEE e H AP0l i T F A-EE He B Uidaasd e #n
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wfaftesT 3 38 | W AR o 5 See 99aE TeT v o+ anes A |

Where does the dalit women's vulnerability lie most?

(1)
(3)

patriarchal system (2) multiple and overlapping patriarchies

material disposession (4) lack of education

Zferq afeemati i srgren TAlaF o fTum 27

(1
(3)

FIGEmTer == 4 (2) =E= 3 Ty fogeme 9
it sEg=] (4) ToEm %1 a9

[Question ID = 4573][Question Description = Q97_WS_SHAAN_NOV21]
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3)

1 [Option ID = 17755]
2 [Option ID = 17756]
3 [Option ID = 17757]
4 [Option ID = 17758]

Read the passage and answer

Dalit Women's subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women. as dalit woman and as dalit women who perform stigmatised labour.
Caste inequality and exploitation is most visible, they argue in dalit and lower caste women's
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste violence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in its spectacular as well as everyday manifestation has come to represent the
inhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of viclation be recognized as an abuse of human rights. The UN world conference
against racism, racial discrimination. xenophobia and related intolerance in Durban. South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference., dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.

Zfera afeenat #it wea gifew =9 @ wfafEa 2-3fm afzemd =l zma #i o 2 - afeen & a1 m,
aH ATHE @S 397 21 T 98 HEAT £ 6 UHl AN wregdr gedl e 1 e giame A i
% HHS H HEE AEEEAT ST 99 Aot A d9 2

feta Afaem 3=3 wifa 1 fEm i w21 @y &, =faa ofeems 2fom == F guia F =9 F o 2w e
F| 99 FUEA F T 3T T 4 W S 6 WEEE F o 2few Aeenett $ et aifs w5 % =9 A
2 W A =9 8 3 SEEAT S 2 A AReaul meaed i A6 w2

r;ﬂ, ! AT HIE TG G i-ig‘ll-lirl #7 TR 0 ATg—==a=9%=yT 1 aEaEar H el Al ﬁ1 SO -
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T AT FAT TUEE % AU S B STVl i T F AEE He ° UAEE A S
digt % g § 52 99§ TR AR 3vas fmm-fame fi wew wefa 22 21 v A, avd oen | 95 9%
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Who is the most oppressed of the following?

(1) uneducated dalit women (2) dalit women

(3) economically backward dalit women (4) educated dalit women
frafefiag 5 9 =9 Taiu® Iedied 2 ¢
(1) HTTieT Bferd Jiee (2) =fea "=
(3)  anfd® =7 @ sl efea-afaen (4) Tofem =fem wteen

[Question ID = 4574][Question Description = Q98_WS_SHAAN_NOV21]
1 [Option ID = 17759]
2 [Option ID = 17760]
3 [Option ID = 17761]
4 [Option ID = 17762]

A W N -

4)

Read the passage and answer

Dalit Women's subjugation 1s materially embedded. that is Dalit women are thrice
subjugated : as women. as dalit woman and as dalit women who perform stigmatised labour.
Caste inequality and exploitation is most visible, they argue in dalit and lower caste women's
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste violence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Viclence in its spectacular as well as everyday manifestation has come to represent the
inhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognmized as an abuse of human rights. The UN world conference
against racism. racial discrimination. xenophobia and related intolerance in Durban. South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference. dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.

afera afzensn i i 9 s =1 9 ofafEa 2-=foa ofted a2 = & foem 2 - ofeem & a7 m,
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% WIS | A SEAEAT S I At FEE 2 2
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wafAfEEl 4 39 a9 Aw fFE 6 A vewe Tl g & aaw 7

What does the dalit feminist critique aim at?

(1)

renewed focus on economic empowerment



(2)
(3

4

equity and justice
demand for dalit supremacy

making dalit women dominant

ZfeTd THIETRE] AT T AT R 7

(1)

(3)

T ORI T Y g (2) =Ea =R =™
Zfera wyea 1 @ (4) =i afzen =i TyeEe aE

[Question ID = 4575][Question Description = Q99_WS_SHAAN_NOV21]
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3)

Ace

(1)

1 [Option ID = 17763]
2 [Option ID = 17764]
3 [Option ID = 17765]
4 [Option ID = 17766]

Read the passage and answer

Dalit Women’s subjugation is materially embedded. that is Dalit women are thrice
subjugated : as women. as dalit woman and as dalit women who perform stigmatised labour.
Caste 1nequality and exploitation is most visible, they argue in dalit and lower caste women's
profoundly unequal access to resources of basic survival such as water and sanitation
facilities, as well as the educational institutions, public places and sites of religious worship.

Dalit women have been targets of upper caste violence at the same time, dalit women have
also functioned as the property of dalit men. The status of dalit women as sexual property of
thelr community, and of the community of men at large has made sexual vulnerability an
important site of intervention.

Violence in its spectacular as well as everyday manifestation has come to represent the
inhumanity of the caste order. In turn dalit activists have been especially vocal in demanding
the act of violation be recognized as an abuse of human rights. The UN world conference
against racism. racial discrimination. xenophobia and related intolerance in Durban. South
Africa from 31 August to 7 September 2001 reflected the significance of mass mediated
publicity and a globally available discourse of historic hurt and suffering in internationalizing
the problems of untouchability. While the Government of India argued that focussing on caste
discrimination diluted the aims of the conference. dalit representatives such as those
belonging to NFDW insisted that caste discrimination approximates the practices of racism.
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AFiFT, St A 31 7T @ 7 THAS 2001 % 95 e, A5diE Hewrd, [Hemi g AR geiaa AatEe
T AT FAF TET F AUEE Ao H ATl $ G F AeUE He § UaRiaE AT S
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Wt 4 39 "9 9 Aw fEE 6 A vewe T amen & aawd 2

ording to the UN world conference against racisms does caste come under race agenda?

caste and race are dissimilar



(2)
(3)

(4)

caste falls under race agenda

caste 1s purely an internal matter of the country

caste 1s a tribe

(1)

(2)

(3)

(4)

w1t #HiT e v g H i

HMid =] TS % FA=d AE A

wifd 9g =9 ° fwedi 291 =1 s=ies qeen 8
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[Question ID = 4576][Question Description = Q100_WS_SHAAN_NOV21]
1. 1 [Option ID = 17767]
2. 2 [Option ID = 17768]
3. 3 [Option ID = 17769]
4. 4 [Option ID = 17770]

Topic:- GP_Set6_A

1)

The following table embodies the details about the production and profit of two items I and IT
by seven different companies A-G. Cost of the total production of both items together by

seven companies i1 Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Earned for
Ttems T Ttems 1T
A 15% 2:3 25% 20%
B 11% 32 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% e 30% 24%

AR Attt 8 21 g 1 230 11 %1 O19 e - e Foa A — G;quwmmfaaw*l
T FEEAT GRT SH1 SR % U WY 30T Fel A0 25 S 2 | it 8 {50 T wwsl %o

HIEHN T

W 1 I A

1 TATEAT (%) | F A ITEqEA FSAAE

2 gl | gl
A 15% 248 25% 20%
B 11% 352 32% 35%
C 22% 4:1 20% 22%
D 08% 270 15% 25%
E 27% 523 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

Cost of production of item I by company F iz what percent (%) of the cost of production of
item II by company D?

(1)
(3

16%

33.33%

(2) 66.67%
4) 20%

S L WIE  NTCRNPIIE | Wi SO | o VRINEIN . SR o e L B RIDRR, |\ s SRR . MY S <. (R . |
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(1) 16% (2) 66.67%

(3) 23.33% (4) 20°%
[Question ID = 4899][Question Description = Q01_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19059]

2. 2 [Option ID = 19060]

3. 3 [Option ID = 19061]
4. 4 [Option ID = 19062]

2)

The following table embodies the details about the production and profit of two items I and IT
by seven different companies A-G. Cost of the total production of both items together by

seven companies i1 Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Items I and IT Earned for
Ttems T Ttems 11
A 15% 2.3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 2 30% 24%
Taifepar anferht ° o1 szl 1 A0 11 1 |16 HelT-He FEa A — G geT 30915 Ud 19 1 fa=ir 2 |

T FEEAT GR SHET SR % U WY 30U Fel A0 25 WIS 2 | alfern | {50 T swel &

HTUR 91 Y99 =1 30T 10 |

FOHEN 3eqE HT AT A

T | P I Fgledamg I | o =y A afEm
F1 aiqwEar (%) | % 9T IeaA i HAAE

: 1 | Tl
A 15% D 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 29%
D 08% S 15% 25%
E 27% 53 28% 30°
F 05% 1:4 35% 25%
G 12% eyl 30% 24%

What is the total profit earned by company G for items I and II together?
(1) {78 Lakhs (2) TF1.62 crores
3 7.8 crores (4) ¥16.2 Lakhs

=g I o =& 1131 = for o @9 et G = g FHE 0 @ry e 27

(1) % 787 2) ¥ 1.62FT3
(3) ¥ T1.8%s (4) ¥ 16.2 %S

[Question ID = 4900][Question Description = Q02_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]
3. 3 [Option ID = 19065]
4. 4 [Option ID = 19066]

3)

The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by

seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details




Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and IT Earned for
Ttems T Ttems 1T
A 15% 2:3 25% 20%
B 11% 32 32% 356%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% e 30% 24%

e Ao ® o1 a1 3 11 1 o e - e Ferar A — Ggquﬂmﬂﬂhaw*l
T FOIET GAT SHT TG F TF WY I I F A0 5 25 S 7 | AlcrR § G T st
AR T ITT 1 I A

FOHEN 379 o HIT =Yg A=

FoHT | F oA Frg [ vd =5 11 T T4 T T
=i TtaTEe (%) | T HEE oA A

2| gl | wmO
A 15% 248 25% 20%
B 11% 352 32% 35%
C 22% 4:1 20% 22%
D 08% 270 15% 25%
E 27% 523 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

What iz the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

(1) 3:0 (2)
(3) i | (4)

2

1
i

[

FroHT A g1 95 15 I 1 S 377 FE D g 95 1 F I S S w1 WER S 4 A

(1) 3:6 &) 2x1
(3) 3:1 (4)

[Question ID = 4901][Question Description = Q03_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Option ID = 19070]

4) The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 1 Rs. 25 crores. Baszed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Itema I and IT Earned for
Items I Items II
A 15% 2:3 25% 20%
B 119 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3: 5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% ][ 30% 24%

TAATTFa Aot ° 21 el 1 370 11 1 319 o0 - 370 Fa A — Ggm—r'wqﬂmfmharm'—*l
mmﬁmmmmmﬁﬁmamﬁﬁﬁmr 25 S 2 | A= ° 50 T RS &
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FoHT | Fe oA g [ vd =5 II T 14 I G
=1 ST (%) | T HET A A

2 Tl | =gl
A 15% 248 25% 20%
B 11% 352 32% 35%
C 22% 4:1 20% 22%
D 08% 217 15% 25%
E 27% §5:3 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

What 1z the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?

(1) % 0.78 Crores (2) ¥97.8 Lakhs
(3) ¥ 52.8 Lakhs (4) ¥ 30.65 Lakhs

et B T o 1 % Scigd @ HEIC AT 19 S0 T A g 9%g 11 % See @ FHH o ) e
Feral T g3 7

(1) & 9.78 %S (2) % 97.8 =M@
(3) % 52.8«m@ 4) =% 30.65 @@

[Question ID = 4902][Question Description = Q04_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

5 The following table embodies the details about the production and profit of two items I and IT

by seven different companies A-G. Cost of the total production of both items together by
seven companies i Rs. 25 crores. Bazed on the data in the table. answer the question

Company — wise Production and profit details

Company | Percentage [‘.’—6) of Total | Ratio of production between Percent (%) Profit
Production Items I and IT Earned for
Ttems T Ttems 1T
A 15% 2.3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% b:3 28% 30%
F 05% 1:4 35% 25%
G 12% 2 30% 24%

e e | 21 Fgen 1 31 11 1 30 7o - Ao Fea A — GE,'W_-TI?':IU_JWTFH%EITUT"’I
T FEIHAT GRT SH1 J5gaT & U @Y ScAEA Hl Fel O 5. 25 5 2 | aifce | o T sewst &
HTHT 9 Y I A |

FOHT | FA I FHIEag I | 7\ = $ aieema
=1 IHTIEAT (%) | % 9T IeAEA A

2 gl | gl
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20° 22%
D 08% 3:56 15% 25%
E 27% 5:13 28° 30°
F 05% 1:4 35% 25%




What iz the sum total of the cost of production of item I by company A and the cost of
production of item IT by company B?

(1) 2.6 Crores (2) 26 Lakhs
(3) 3.35 Crores (4) 33.65 Lakhs

Frot A g1 wg 1% 3o i AEE i wmee B g ae 11 % Serea it Ara w e Fe e

(1) % 26703 (2) % 26 =M
(3) % 3.35 =2 (4) % 33.65 @™

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]

Topic:- GP_Set6_B

1) In which level of teaching ‘Seeing of relationship’ is promoted as an objective?
(1) Memory level {2) Understanding level

(3) Reflective level (4) Autonomous development level

forgm = fF T W Al W g i 3w & B9 F O R o 27

(1) - = (2) FEE - T
(3) Tamefi - o= - = (4) =T - FEw -

[Question ID = 4904][Question Description = Q06_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Option ID = 19080]
3. 3 [Option ID = 19081]
4. 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.

(B) Tutorials and case studies

(C) Group discussions and interactive presentation
(D) Simulation and role playing

(E) Computer Alded instruction and Practical tasks

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B)and (D) only
(3) (B) and (C) only (4) (D) and (E) only
(A)  Frev-ge vd wEwH
(B) e va =afFq seaEa
(C)  @MfEs ==l vd SR
(D)  =FE9al w3 i e

(E) g @ETead FHE9H U SR w
= f2u U e 8 | R 3 =E i
(1) =4 (A) =7 (C) (2) === (B) i (D)

(3) == (B) 3k (O) (4) Fa (D) R (E)



[Question ID = 4905][Question Description = Q07_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4. 4 [Option ID = 19086]

3)  Match List I with List IT
ListI
Key behaviours contributing to effective
teaching
(A) Lesson clarity
(B) Instructional Variety
(C) Engagement in learning process
(D) Student success rate
Choose the correct answer from the options
1) (A)-IV), (B)-(IID). (C)-(ID), (D)-()
@) (A)(D). (B)-(ID). (C)-(III). (D)-(IV)
(3) (A)-(ID). (B)-(I). (C)-(IV), (D)-(IIT)
4) (A)-(I1D). (B)-(IV), (C)-(I). (D)-(IT)
-1 % Ty -1 e i -
-1
(A) TS - FEAT
(B) sHcm-dfas
(C) e wisen = wAfefe
(D} 2F - FFAd1 — =1

= T8 MU el | | HE I S 99 I

(1) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(2) (A)-(D). (B)-(IT). (C)-(IIT). (D)-(IV)
(3) (A)-(ID). (B)-(I). (C)-(IV). (D)-(IIT)
(4) (A)-(IID). (B)-(IV), (C)-(I). (D)-(1I)

List IT
Descriptive fetures
(I} Frequency with which students
understand and correctly complete
exercises
(I) The amount of time students devote 1n

learning in the classroom

(IT1T) Teacher's flexibility of the delivery

during the presentation of a lesson

(IV) Direct. audible oral delivery to all

students

given below :

TEi-11

(D B *F FEEeT H oAg vE IE G

ST F1 WA qAE ° G FA

(IT) =1 § BET gAT At 7 Hegds o o

(II) T3-TEdrd =i ata & [es + e -Ted
=1 T

(IV) =i faemie=n =1 =, EviE dings aeE-
i

[Question ID = 4906][Question Description = Q08_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]
3. 3 [Option ID = 19089]
4. 4 [Option ID = 19090]

4) :
Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine

alternatives is an example of direct instruction.

Statement IT: Probing refers to teacher statements that encourage students to elaborate an

answer.



A1 LeE 1EIL O LIS dDOVE slalClilel Le, CIIOUSE LIE COTTECL allswel 11000 LS OPLIOTEs g1VELL DELOVY.
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I 12 true but Statement I1 1s falze

(4) Statement I 12 false but Statement II is true
i 1 ye feg T E

o (1) : B H fwenl = afiem w1 % e seaifEg T Fe w EE e SR U

I R |

F9 (1) ;. IZATS F1 AdAa 5 F1, D1 H Fan 9= 3097 27 * oy semted 0 90 w97 2 |

IURF HYA F AT 6, A= B T e | 9 wE 39 1 9 i
(1)  9A 13 2 aea 3 |

(2) w1 HAR I 2A 8 2 |

(3) w15 3, dfe we [ 3 2 |

(4) = I @ B, witeT we Il & |

[Question ID = 4907][Question Description = Q09_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19091]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4. 4 [Option ID = 19094]

3) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Asszertion (4):  Innovations in evaluation system have to amply safeguard the reliability

and validity issues of tools used.

Reaszons (R) : The very purpoze of evaluation is frustrated, if the evaluation tools do not

meet the requirements of reliability and validity.

In the licht of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)

(3) (A) 18 correct but (R) 1s not correct

[EY) (A) 12 not correct but (R) 1s correct

Hi= 71 wye fou 7w # vk AfRu (Assertion A) % =9 # fofiga 2 A1 avarraﬂ‘-ﬁ #7 (Reason R) &

qu:[



HIH=EA () © HedlsnA—AY el H A<=, d89d SU=hUl shi Idddu= 1=l S0 8l satsiedl b)) spl A=t

A H A R

FR (R) : b o I e T | o P O | o e e e o o s s e
ufet 76 = 2 |

SHEIE HY F A 4, A9 e e el § @ wsg 39g 3w 9 Hib

(1) (A =R (R)aF1 =& 2 3 R). (A) Fi =& =amem 2

(2)  (A) 3 (R) 3 =& £ @ (R). (A) 1 w8t = 78 2
(3) (A TF 2 & (R) w6l 76T 2|

4 () zA T E Al (R) 78R

[Question ID = 4908][Question Description = Q10_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19095]
2. 2 [Option ID = 19096]
3. 3 [Option ID = 19097]
4. 4 [Option ID = 19098]

) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?

(1) Expost Facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method

= F wf ma-fafemt @ = oy afeer whew afEr seaw w=w @ A =0 i g = gfiE
el B 7

() e - o @) TETEE-fat
(3)  TUfemam-fafy (4) TrrmeE-Tdau-fata

[Question ID = 4909][Question Description = Q11_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4. 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C) Two groups static designs

(D) Randomized groups pre test post test design

(E) One group time series design

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only
(3) (B) and (D) only (4) (D) and (E) only

9§ O Fi1 Fnaas TEE Afawer T § aeeg 2 7

(A) T AT TR e

(B) TZwEE AE=RiEa A wAv Fae S el

(C)  TgEmem T sifashen

(D)  FE=SFd TE RIS T ST

-

TR ety RS S L s S R N L o T R S SRR e



WD)

i fou T fomrenl 9 @ wE 3 === it

(1)

(3)

K SRh A gl el

el (A) #R (B)

== (B) #T (D)

(2) === (B) 3T (C)

(4) A (D) 1 (E)

[Question ID = 4910][Question Description = Q12_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Option ID = 19104]
3. 3 [Option ID = 19105]
4. 4 [Option ID = 19106]

8)

(A)
(B)
(C)

(D)

Match List I with Last IT

ListI

Steps of rezearch
Problem formulation
Hypothesis making

Research design

Data analysis

List II
Precautions needed
(I) Appropriateness of techniques used
(I) Ensuring internal validity optimally

(ITI) Unambiguous labelling of wvariables

being related

(IV) Focused izsues in terms evidences

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A)-(ID). (B)-(D), (C)-AV). (D)-(IIT)
(A)-(D). (B)-(ID). (C)-(I1I). (D)-(IV)
(A)-(IV). (B)-(IID). (C)-(II), (D)-(D)
(A)-(I1ID). (B)-(IV). (O)-(D. (D)-D)

F=H-1% Ty g=fi-11 =1 fem Hifse -

(A)
(B)
(©

D)

= fog v 9T § ° 991 390 % 999 it

(1)
(2)
(3)
4

I

7MY =

T gt

pliernii-cicn

EC e e e

Zz-Taram

(A)-(I1). B)-(D). (C)-AV). (D)-(I1I)
(A)-(D), (B)-(II), (C)-(IIT). (D)-(IV)
(A)-IV), (B)-(ID. (C)-(ID), (D)-d)
(A)-(I1D). (B)-(IV). (C)-(D), (D)-T)

11

ATEAvEF AEETE

Iy o e T A IageE
A1) =t g # e gHfvEaa
(III) sErEfaa =7 F1 AHEY e

(IV) HEF-TE T i g

[Question ID = 4911][Question Description = Q13_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19107]
2. 2 [Option ID = 19108]
3. 3 [Option ID = 19109]
4. 4 [Option ID = 19110]

9)  Given below are two statements :



Statement I: TUse of ICT in research is a super imposition which should be discouraged.
Statement IT: Research ethics and its observance has to be a mandatory requirement.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 18 true but Statement II 1s falze
(4) Statement I is false but Statement II 1= true
Fr= 3 Fom fam e E
Foe (I):  wa & g =@, = wE vk e & T ediemted G e = |
Fo (II) :  TEER -9 31 SHF ST 0% AFaE SEvasa 7 |

S F9T H A |, 49 5 e fFwew 9 | wE I w0 == i

(1) =wFI#ARIISA g 7 |

(2) w9 IHAR I3 s 2 |

(3) =y Iae 2, e %o [ 18 2 |

(4) w9 I 9G93, it By IL T 2

[Question ID = 4912][Question Description = Q14_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Option ID = 19112]
3. 3 [Option ID = 19113]
4. 4 [Option ID = 19114]

10) Given below are two statements : One 1s labelled as Assertion (A) and the other 1= labelled as
Reason (R) :
Assertion (A) : Format and styles of referencing in a research thesis are formal
requirements.
Reasonz (R) : Formal requirements and their obzervance help promote standardization

and obhjectivity.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) is falze but (R) is true

d=  weE faw o E



=1 (A) L A €S —As S H SR e del] vl degHA AT Hi==halll & |

=+ (R) : AGEF AETTFATAT AR S AT W G SR AT & EadT d
HErEA e 2|

YRR YA % AT |, A9 B T faseni ¥ ° w3 % =EE i
(1) (A) 3R (R) 31 @@t 8 31t (R). (A) FT @l == 2 |

(2)  (A) 3R (R) 341 T8 3 A (R), (A) 1 =@ =amemn 78 2

(3) (&)= 2 FFF (R) wE TE 2

@) (A=A T 2 A (R) @R

[Question ID = 4913][Question Description = Q15_GP_22NOV_S2_SHAAN]
1 [Option ID = 19115]
. 2 [Option ID = 19116]
3 [Option ID = 19117]
4 [Option ID = 19118]

A wWw N =

") When the attitude of the communication towards self is positive but towards others it is
negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3 Self-concelted (4) Communicating without confidence and

without optimism

(1) st (2) SACHETETE UA TTHIVEAT F A9
(3)  stqEE (4) TavamEE va sTomaElEd 2aG

[Question ID = 4914][Question Description = Q16_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19119]
2. 2 [Option ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122]
12) 1f the action desired in the message 1s satisfactorily performed or the information is
faithfully received. it is said that.
(1) Communication loop haz been closed (2) Communication haz just begun
(3 Communication 1= successful (4) Communication process is smooth
ST HCIEAT U Ay 57 ¥ i F AT 541 2 991 A g=A FeamgEas S 2 9 A A
34 FEd 2
(1)  =Em - 9wy &= =1 96 2 (2) waw avdt 7% A gem 2
(3)  TAW TEA 7 (4) TEE-uGE fEig 2

[Question ID = 4915][Question Description = Q17_GP_22NOV_S2_SHAAN]
. 1 [Option ID = 19123]
2 [Option ID = 19124]
3 [Option ID = 19125]
4 [Option ID = 19126]

A W N -

13) -
) Given below are two statements :

Statement I: Society plays a key part in the shaping of communication process.

Statement IT: Communication 1s concerned with the production, distribution and formation
of public knowledge in society.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

Fis 31 s e e (RS g N ROEEN SR TIR R Thin LSRRG GO DR 3, 5 SIS Ry Rt e |8 )



Lt AN R LALTIIIT Iy B A WA LIT ARl 1] AL S 1WA T
(3) Statement I is correct but Statement II 1s Incorrect

4) Statement I is incorrect but Statement II 1= correct

i gt ya fgg e #

FA (I): TS, TAE THEAT S AT B gEd Y w1 R e

Fu= (II) . @arE B9 5 TFE-TH -8 = 3ees va faaor | i ety 2

I FUA & AAE 5, A= T faweui § ¥ awd 3ug e S 99 i
(1) Fom Isk 3R w8 |

2w 3R I 3M Ted 3 |

(3) FE ITA 2, AR FeA I 7TeE 2 |

(4) == I 2, b % e 2

[Question ID = 4916][Question Description = Q18_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 19128]
3. 3 [Option ID = 19129]
4. 4 [Option ID = 19130]

14) ‘Many Voices. one world : Communication and Soclety :

Today and Tomorrow’ (UNESCO), known as the MacBride commission, 1s about:
(A) The needs of developing countries

(B) Industrial growth

(C) Dizarmament and world peace

(D)  Balance information flow

(E) International understanding

Choose the correct answer from the options given below :

[ ] (A). (D), (E) only (2)  (A), (B). and (C) only

(3) (A). (C), and (D) only (4)  (A), (B), and (D) anly

fi=afFaat om= favs o 5912 v 9 o7 SR Fd (95D, afing feerss FHEE, s an | 27
(A)  Tameia 2o it sy
(B) :.-' r'-_ F\ . f\

(C) st g At

(D)  FAfed ga T49E
(E) &= UdE Hasiy
Hr= fau o famedi § ® o8 I =9 Fif

(1)  =aet (A). (D) #11 (E) (2) &= (A). (B) 317 (C)

(3)  =aEa (A). (C) 31 (D) (4)  =ae (A). (B) #il (D)



[Question ID = 4917][Question Description = Q19_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 19132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

13) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Assertion (A) : Those who receive the message and get themselves influenced by them in
the process, are designated as audience.
Reasonz (R) : An individual or many. who listen. watch or read the meszages are called

audience.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4d) (A) 1= not correct but (R) 1s correct

4= 21 Y B U # v ATHFYS (Assertion A) % ®9 H fAAfEa 2 A T F% F10 (Reason R) %

=9 4

sifERA (A) T TR HEE FG B W oH UG § EE auiEE 5 99 B, 399 4 HeE
ST 2 |

F1 (R) : U =AfF 1 R 219 =4fE 1 TS9P G, 999 311 994 7, F7a1 Faed 2 |

ST FUF AT §, A1 A 0 Fwedl § ° G99 S9ET I H1 994 Fie

(1) (&) 3R (R)3F 78 2 3 R). (A) 7 w8 =30 7 |

(2)  (A) =R (R) 31 T8 & & (R). (A) i 78 = 16 2
(8) () WE 2 = (R) W A R

@) (A wE R Al R) T 2

[Question ID = 4918][Question Description = Q20_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 19137]
4. 4 [Option ID = 19138]

16) A sum of money at compound interest doubles itself in 15 years. It will become eight times

of 1tself in :
(1) 45 years (2) 48 years
(3) 54 vears (4) 60 yvears

w fifrad g §f Tie 15 991 ® awalg = § I & A 2 | T8 I AT F 1S A e a9 |7 wl
St ?



(1) 45=mid (2) 48=mi g

(3) b4=mid (4) 60=m o
[Question ID = 4919][Question Description = Q21_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]

3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142]

17) The average age of three boys 1s 25 years and their ages are in the proportion 3 : 5 : 7, the
age of the youngest boy i3 :
(1) 9 years {(2) 15 years

(3) 18 vears (4) 21 years
i w5l i 2AtEa WY 25 Wiel & N IR Y F GHEIE 3: 5 7 & o g9y ¢ A5 ) A TR

(1) 9 = (2) 159

(3) 18 91& 4 214
[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]

3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 kmv/hr, a train reaches its destination in time. If 1t goes with an

average speed of 40 km/hr, it 1s late by 24 minutes. The total distance travelled 1s :
(1) 30 km (2) 40 km

(3) 60 km (4) 80km

w terTEt 50 R A i sttee via @ ee |em wael WowE IEE | ugadl ¢ | S gw 40 TR g

1 7ife & ==l £ a1 77 24 e <2 7 Tl 2 | S) Fer o FRerEie & a6 w2 7
()  30fwH. (2) 40%FA.
(3) 60 .11 (4) 80F=HL

[Question ID = 4921][Question Description = Q23_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19) 1f the word EARTH be witten as QPMZS in coded form, how can HEART be written following
the same coding.
(1) SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

5" EARTH %5 =l Fz-9m1 § QPMZS fomn man 71 @1 36t Fz-9m1 § HEART =i &4 fogn ?

b SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]



20) Complete the number series :
0, 6, 24, 60, 120, ......

(1) 180 (2) 300
(3) 210 (4) 240

TEAT-FH T H

0. 6. 24, 60, 120, ......

(1) 180 (2) 300
(3) 210 (4) 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19155]
2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika is never seen reading any Mathematics book during the day time. Yet she scored

98% marks in Mathematics. Therefore she must be studving during the night. “Which of

following means of knowledge 1s used in this argument?
(1) Upamana (analogy) (2) Pratyaksa (Perceptlon)

(3) Anumana (inference) (4) Arthapatti (Implication)

“femt % wHT H wrTieR w1 e i gEas ded g i ot 98 2w, quify s9 08% w1 e 5U| o
TE T | TG Yl w01t | 56 AfFa § A |1 SEE e B 7

(1) EEEIE (2) U=y

(3)  #FEA (4) A=

[Question ID = 4924][Question Description = Q26_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4. 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of

inference (anumana) cannot be determined because there iz always room for doubt about the
unobzerved cazes?
(1) Buddhists (2) Naiyvayikas
(3) Mimamsa (4) Lokayala
Ffafas 4 @ 75 o gvdm =9 ugfa 7 gedt @ 7 agEe @ wefaa aEdm gy faifa 19 e
T TR FANF ARG AT § Bi2raa i THEE FHI a4 w8 7

(1 =g (2) =Tl

ot

(3)  HHEE (4) =

[Question ID = 4925][Question Description = Q27_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Option ID = 19164]
3. 3 [Option ID = 19165]
4. 4 [Option ID = 19166]

23) The statement ‘a sense organ that percelves a property also perceives the “propertvness” as

well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvika (2) Nyava



(3) Buddhism (4) Uttara mimarsa

HuF - S sfeEm qned w1 venw wdl 2 9w sfEa sueht quiafdar a9 suh srara w1 aeme et 2
38 U WRATE 59 % R wEE @ g o e 2|

(1)  =rFmEe /= (2) =M
(3 dig (4) 3w

[Question ID = 4926][Question Description = Q28_GP_22NOV_S2_SHAAN]
1 [Option ID = 19167]
2 [Option ID = 19168]
3 [Option ID = 19169]
. 4 [Option ID = 19170]

A W N -

24) Which fallacy 1s committed in the following statement?

“Nobody has even proved that immoral behaviour by elected officials erodes public morality.

Therefore we must conclude that such behavior dees not erode public morality”.

(1 Appeal to Force (2) Appeal to Pity

(3 Appeal to Ignorance (4y  Appeal to the Peaple
HeifAraa Fua 4 HH B B 9E AF A 27 TR 9 vEn v 38 B 2 R o9 gu et
HATGF SRR FA-AlGwAT F AR HAl & ForEd B9 36 HURY W UEEd 7 6 39 W F IEEn -
e 1 & TR A R

(1) == % =ed (2) =41 WA = Jed
(3)  #FE * =9d (4) “HiEd % I

[Question ID = 4927][Question Description = Q29_GP_22NOV_S2_SHAAN]
1 [Option ID = 19171]
2 [Option ID = 19172]
3 [Option ID = 19173]
4 [Option ID = 19174]

AN wnN -

25) Given below are two statements :

Statement A : “All physicians whose licenses have been revoked are physicians ineligible to
practise”.

Statement B: “All physicans eligible to practise are physicians whose licenses are intail”.

Which of the following 1s true with regard to above two statements?

(1) Statement B 1s contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B 1s contrapositive of the statement A and these two statementz are
logically equivalent.

(3) Statement B 1s converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B 1= obverse of the statement A and these two statements are not logically
equivalent.

Fa % wi Flweae (el st e B w2 3 fafeem w0 eg swmm B 7
FoA W 3wt fafrers = fafrem w0 F fou 2 # swh smmfeat s #)

5 =M1 FUT F T=d § e § w5 |\ e v 2 |

(1) o 9, I 3 F AAEGT €9 & TGT S FYS THH 512 F THGed T F |
(2)  UF A, O A H AfAfET BT 7 997 =M F9A qTw 22 W TEGET B |
(3)  HU W, T I F AR T % AT I FHYT A 512 H TAGET T4l B |
(4)  =F A, ®OF A F AqOEET B9 7 997 M FYF A1 28 O @9dea T E |

[Question ID = 4928][Question Description = Q30_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19175]
2. 2 [Option ID = 19176]



3. 3 [Option ID = 19177]
4. 4 [Option ID = 19178]

26) With respect to Computer Virus, which one of the following statements is True?

(1) It 1= a kind of physical impurity which when present in the CPU causes it to

malfunction.

(2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It i1z a computer program which coples itzelf to infect a computer without the

permission / knowledge of the user.

(4) It 1= an accumulation of dust on the hard disk causing it to malfunction.

FEAZL ATSH  HEA-Y | (feriad § @ i o Ry Heg 27
(1) =% OF TR i Hifas F9g 2 5 5@ #dig. 9 T 2 A Teegt 9w w1 2|
(2)  ¥% UF FEHE T E A FE H UHIES FAT 2 AN 36 TER AAEGEes 9o $He g9l 7 |

(3) 9% UF G W 7 W A WdET SHET 7 (96E FF FOAET A1 SEE AR FA Jrel H
FAEFRT F & 6 TiEa A |

(4) % Had 9o FI T0E 2 A we-ToEh W U Al 2 (e w1 HE S ool 2 |

[Question ID = 4929][Question Description = Q31_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest in terms of storage capacity
(A) Cache

(B) RAM

(C)  Hard Disk

(D) Register

Choose the correct answer from the options given below :
(1) (C). (B). (D), (A) @) (D), A, (B). (C)

(3)  (B). (D). (C), (A) 4) (C). (B). (A). (D)

Tfq-wosT i &Ha Fi 52 ° Tew 95 I T 312 Fg AN F Tel i TmaE |

(A)  HE

B) .

(©) =TS =
(D) T

419 f2v 7o faweat 9 0 OF I w1 =9 i



(1 (C). (B). (D). (A) 2y (D). (A (B). (C)

(3) (B). (D), (C). (A) (4) (C). (B). (A). (D)

[Question ID = 4930][Question Description = Q32_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19183]
2. 2 [Option ID = 19184]
3. 3 [Option ID = 19185]
4. 4 [Option ID = 19186]

28) Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128.

Statement II: Minimum number of bits required to store largest 2-digit decimal number

is 7.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

FoH (I):  7-fa= =1 uam w9 5U wew ¥ Snes A 128 # |

Fo (1) . T =91 21-T=foe emefas qmm = 5w #6 % fog =gaan 7 oz $i seegsa 2

SRR FUE o AT °, A9 3 T e # g w3 == i
(1) FW IR a7 |

(2) w9 IR II3E s@eT 2 |

(3) oA ITe 2, s = 11 waes 7 |

(4) w5 B, wff waa [TaeT 2 |
[Question ID = 4931][Question Description = Q33_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188]

3. 3 [Option ID = 19189]
4. 4 [Option ID = 19190]

29) Which of the following group of statements with respect to World Wide Web (WWW) is

correct?

(A) A web server 1s a software used to access and view content on the WWW.



(B) A web browser 1z a computer system that makes files available on the WWW.
(C) Tim Berners — Lee created the WWW,

(D) Mosailc was the first widely used web browser.

Choose the correct statements from above :

(1) (A) and (B) only (2) (C)and (D) only

(3) (B) and (C) only {4 (A and (D) only
WWW (g52 9153 a9) % Ges-4 H HH-%i4 O F% Gal 8 7
(A)  F9 TR UE A 2 S WWW W GFE $i Fieeae 4@d F 0 1gad w2 |
(B) =@ WIS UF FOAA EH & 51 WWW T 394 i5et 59 # |
(C) Tou sHd-<f 4 WWW 571 |

(D)  HTAE TR WEE SAE] WAE R S A ae wee 91|

= fau o ot 94 9 w8 3w == i

(1)  =ae (A) 3l (B) (2)  =ad (C) =k (D)
(3) e (B) 3R (C) (4 =FAE (A) =1 (D)

[Question ID = 4932][Question Description = Q34_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19191]
2. 2 [Option ID = 19192]
3. 3 [Option ID = 19193]
4. 4 [Option ID = 19194]

30) Match List T with List IT

TistI List IT
(Digital Initiatives in Higher Education) (Purpose)
(A) NAD (I' Reduce dependency on proprietary
software in educational Institutions.
(B) NDL (I)' Learn varlous free and open source
software all by oneself.
(C) Spoken Tutorial (ITT) Tssuance, storage, access and

verification of Academic Awards
namely degrees, mark-sheets etc,

Dy FOSSEE (IV) Frame work of virtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :
(1) (A)-(III). (B)-(IV). (C)-(II), (D)-(T)
(2) (A)-(IV), (B)-(I11), (C)-(I), (D)-(II)
(3) (A)-(IV). (B)-(I11). (C)-(I), (D)-(D)
(4) (A)-(ID). (B)-(T). (C)-(I11). (D)-(IV)

g1 % =y g=i-11 =1 foe it



HH1-1 F=1-11

T==tmie § fefes w=a =T

(A) e, @ Toem-gerE | gl e W
FH HATE |

(B) .3 AD) =9+ = # fafys & et e g
ATz HiEaT ? |

(C) T T (IIT) Tl =, F91 F, 95 AR dAfas qeae
Su-feait, A -tz searts 7 =g

(D) TE.ATATEEE (IV) e faet o= i giawn = oy =6 fas

% A fifared =1 Hua

= fou o faeal | ©@ wE 3 999 iAo

1) (A)-IID). (B)-IV), (C)-(ID), (D)-0)
20 (A)-AV). (B)-(III), (C)-(D). (D)-(IT)
3 (A)-AV). (B)-ID, (C)-ID), (D)-(D)
@ (A-AD. (B)-(D). (C)-AID. (D)-(IV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198]

31) Ozone layer to become ozone hole. the concentration of ozone should be
(1) < 220 Dobson Unit (2) = 300 Dobson Unit
(3) < 320 Dobzon Unit (4) =400 Dobson Unit

A T &+ S1aF Taz 1§ ufEfad 219 % fon o= =1 99e aF 91T |

(1) =220 zi=m T (2) <300 S8 37
(3) =320 == 39 (4) <400 37=A T

[Question ID = 4934][Question Description = Q36_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3. 3 [Option ID = 19201]
4. 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is
(1) SARS — Cov-2 (2) TB- Cov-2
(3) SARS — Cov-1 (4) HaN-

Fias-19 F fow It fomm 2 -

(1) HHE -, - 2 (2) FEi-=E, -2
(3) =H-=FE. -1 (4) THIH>

[Question ID = 4935][Question Description = Q37_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Option ID = 19204]
3. 3 [Option ID = 19205]
4. 4 [Option ID = 19206]

33) Match List I with List II

ListI List IT
Air Quality Index Colour Code
(A 0-—30 Iy Yellow
(B) 101-200 (I) Red
(C) 201-300 (III) Green
(D) 301 —400 (IV) Orange

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(I). (C)-(ID). (D)-(IV)
2] (A)-(IID). (B)y-(I). (C)1-(IV. (D)-(ID)



(3) (A)-(ID). (B)-(I). (C)-(I1D). (D)-(IV)
4) (A)-(II). (B)-(D). (C)-(IV), (D)-(IID)

T % |y =111 =71 faes it

TA-1 THI-1I
(A) 0-50 I e
(B) 101-200 I ==
(C) 201-300 IIT) =0
(D) 301 -400 (IV) =mef

Hi= T2 v faweai 4 9 @ I o =me i
(1) (A)-(III). (B)-(T). (C)-(II). (D)~(IV)
(2) (A)-(IID). (B)-(I). (C)-(IV), (D)-(II)
3 (A)-(IT). (B)-(D), (C)-dIT). (D)-(TV)
(4) (A)-(II). (B)-(I). (C)-(IV). (D)-(III)

[Question ID = 4936][Question Description = Q38_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]
3. 3 [Option ID = 19209]
4. 4 [Option ID = 19210]

34) The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :
(1 Salts get precipitated at the bottom
(2) Salts are absorbed by the plants into it
(3 River water in replenished by the rain
4) Muds of the river neutralizes the =alt

(1) v Ao § s 7 S (2) T SEOH S A
(3) i W A G i = S (4) T T ME AW F Ao =

[Question ID = 4937][Question Description = Q39_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19211]
2. 2 [Option ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

35 -
) India’s maximum energy comes from :

(1) Hydroelectric Power Plant (2) Nuclear Power Plant

(3) Thermal Power Plant (4) Solar Power Plant
UA | AT S EE B

(1)  gfsra=t 993 (2) W faEd w993
(3)  amfrEE T (4) =R foE @

[Question ID = 4938][Question Description = Q40_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19215]
2. 2 [Option ID = 19216]
3. 3 [Option ID = 19217]
4. 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes in India. The role of learner was considered

to be relatively more :



(1) Active (2y Passive
(3) Neutral 4y Silent

AT |, WA 39 AT FEAHR S Aermsa i giew-ania® ' o Afaw

(1)  @rfsa @t =t o (2) Toferg aet St o
(3) =y gl S o (4) == "ET S ot

[Question ID = 4939][Question Description = Q41_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical
aspects of environment?
(A) Habitats in slums
(B) Conflict and clashes 1n groups
(C) Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2)  (B}). and (C) only
(3) (B) and (D) only (4) (C)and (D) only
Fenta 9 @ FA-di EeeaT S=Ea % e 9§ ATSE I TEReAS QIS 98 H T w7

(A) ofe afm # aE-re
(B)  AE  EE T

(C) =zl H Fa1 31 =uar Y2 =il 2

(D) THE SIEEN H ATHREHAT A G@a T w4 8

H= 50 TU faweT § | TE 399 1 999 i
(1) a1 (A) 3 (B) (2) Fae (B) FHR (C)
(3) === (B) =1 (D) (4) Fae (C) 317 (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]
3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher is supposed to

atleast devote how many hours every vear?

(L) 20 hrs (2) 30 hrs
(3) 40 hrs (4) 50 hrs

T e T SR aneieRd & foe o faes i afs 9 g e 92 s e =i

(1) 2092 (2) 3082
(3) 40 9 4) 50

[Question ID = 4941][Question Description = Q43_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19227]



2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229]
4. 4 [Option ID = 19230]

39) The central motivational goal as evident In personal success through demonstrating
competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistic vlaue

(3) Achievement value (4) Power value

AHISF TS 5 FIET 3§ F TWH T AAETR TRAT H THe HaA IORF 957 ° et god
”_*50?%-'

(1)  =7ent==t go (2) HEaE 5
(3)  =uefH gem (4) =i 777

[Question ID = 4942][Question Description = Q44_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19231]
2. 2 [Option ID = 19232]
3. 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40) Natch List I with List II

List I List IT
Stages of value development Descriptive features
(A) Stage I — Value collection (I) Provides predictability of human
behaviour
(B) Stage IT — Value assessment (ITh When there are gaps between
practised and preached values
(C) Stage III — Value clarification (III}) Helps the individual learn to choose

and 1mbibe the values one cherishes

(D) Stage IV — Value consolidation (IV) These are acquired from the members
of the community

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(ID). (C)-(ID), (D)-(I)
(2) (A)-(T). (B)-(IT). (C)-(III). (D)-(IV)
(3) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1II)
4)  (A)-(IID. (B)-(AV). (C)-(D), (D)-II)

-1 % Ty -1 1 fiem it
7= .11
(A) = - I - god Ty () #H9 &R F1 FFAE ITed T ¢ |
(B) = - II - 5= 3T (I) =% =7a8a 71 I gt | o7t & |
(C) =7 - III - §eg #uffm (III)wﬁaﬁwaaq@%wm-rﬁzmﬁ
fpa™ # TErar # 2 |
(D) = - IV - o1 T (V) % e & HEE & S o = g

= fau u T | ® g I S 99 i
1) (A)-IV). (B)-(III), (C)(ID). (D)-(D)
(2) (A)-(D). (B)-(II). (C)-(IIT)., (D)-(TV)
(3) (A)-(ID). (B)-(D). (C)-(IV). (D)-(IID)
(4) (A)-(ITI). (B)-(IV). (C)-(I). (D)-(IT)

[Question ID = 4943][Question Description = Q45_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19235]
2. 2 [Option ID = 19236]
3. 3 [Option ID = 19237]
4. 4 [Option ID = 19238]

Topic:- GP_Seté6_C

1)

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from



education. The former was intended to transfer the =kills of labour and the secrets of
craftemanship to the younger generation of the toilling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalieations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historan, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

feAfRa e 1 aien S A= 5 T aee e S

TTEW F A W 9E T FE R TH F IYEE F T Fq%‘ﬂwwaam-m WO 4 I
S fomrrl ® e # Al g did w0 aeEEin O 91 AF 3 S0 48 F gemEE S 9 |
AT F1 W9 TISE 91 F TUE A SR S A g9 g o TEaE 91 91 v T
T THNUFHR F GEAE T I HUAR (A1 N @ 30 QA1 % 49 ° giea st = At s o
FIAL § ANG J0 H1 i Gor 8 TGl wuiaon 5 7| g el i 3w AgE g axiaal |
fareper Tz ofi Tl werg =M U F100 ® T FH o0 | 2 A5 S0 | B B [ W ST FE 76
o T w1 WO F TE-4T ° URYE % aeew # R w2 e e 3% e # atem e
T SR AR F T @0 gR A W I O § At @ T 56E e shew 8, fhar = A
SHAHET F TEIGF Toe B0 T S Gl 7 | 9fean & GwEm gm g sdeis # i § 9 99
mﬁwwnﬁ?ﬂW|m$WW$mwrﬁﬁm$mﬂmmﬁmn
T e e sit o ge e seaea § wsein e 5" FE T | SRR # giEsE d i 96
T TETIA TR | ST SAETTE 7 T | U A e % e wE 7% Wel aEE w5 arsa AhE
F T | Sl ® TN h oI H FE WHd O F@E 98 TEed ° Ul WO q BH o i w@an #HR

Inequalization due to education could be addressed by :

(A)

(B)

(©)

(D)

Promoting the distinction between theory and practise
Challenging the watertight distinction between training and education
Qualitative transformation of technology

Ushering in an age of specialization based on dichotomy between training and

education

Choose the correct answer from the options given below :

(1)

(3)

(A) and (B) only (2)  (A), and (D) only

(B) and (C) only (4) (C) and (D) only

forer o s 1 HEE 2



(A)  forgi iR =Ew  fade = weE 3

(B) itz =i e % o= % srgey fadg = e 2

(C) T =1 ToEmTR ST |

(D) i o1t foen = fgamsm = smam o w1 w5 w5

= f2u o T | | HE 3 99 i

(1)

(3)

Fad (A) 3R (B) (2) Fa= (A) 3 (D)

#ad (B) #1 (C) (4)  =aw (C) 37 (D)

[Question ID = 4944][Question Description = Q46_GP_22NOV_S2_SHAAN]

AW N =

2)

1 [Option ID = 19239]
2 [Option ID = 19240]
3 [Option ID = 19241]
4 [Option ID = 19242]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftemanship to the younger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledgze to the vounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the sclence of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

eIt T Hi gige FAR = 5 e e o g

wform i foen @ 929F T FHE W TH F IAFE FH Faa-FT o9 1| THadl F1 T9E 0w
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TE U TS B fortaa 5 TS Seae § mEeien e w9 A T8 | SEr W gihETe ¥ s g6
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Education may be considered to be an instrument of inequalisation.

Reasons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
4

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(A) 18 correct but (R) 1s not correct

(A) 1s not correct but (R) 1s correct

= a'l =y fau Tﬂ?{'ﬁ' . U HTEFRYE (Assertion A) + =9 § foafaa 'a" Al T 3% F9 (Reason R) &

AT (A) : ToTe =1 SAHATEI AT A A A E
FE (R) : forem | wforeror =it guw FF w0 FTE H gUF B T

I FUE AT 9, A A e fawe @ 8@ wed SugE 39 1 =9 i

(1)  (A) 3 (R) 391 @2t 2 3110 (R). (A) i T&1 =T 2 |
(2)  (A) 3 (R) I @& 2 =i (R). (A) =i w8 =amem 96 7 |
(3) (AT 2w R) wE T 2

4 (A) TE & 2 d@fE (R) =@ 2

[Question ID = 4945][Question Description = Q47_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19243]
2. 2 [Option ID = 19244]
3. 3 [Option ID = 19245]
4. 4 [Option ID = 19246]
3)

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the aweat of their labour. The latter was intended to pasz on the abstracted
generalisations of soclal practice as gems of knowledee to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
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knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technologyv. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Given below are two statements :

Statement I: Training 1s intended to transfer the skills of labour and secrets of crafts

manship to people who lack it.

Statement II : Education is intended to pass on the abstracted generalizations of social

practise to those who lack it.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(L)
(2)
(3)

(4

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II is incorrect

Statement I 1s incorrect but Statement II 12 correct
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1 [Option ID = 19247]
2 [Option ID = 19248]
3 [Option ID = 19249]
4 [Option ID = 19250]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the zkills of labour and the secrets of
craftemanship to the yvounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of anglez that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technologyv. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)

Classless society

Technocratic society



L
(D)

Anterrelatlon Deltweell TNeol'y and practice

Preszentation of traditional erafts

Choose the correct answer from the options given below :

(1)
(3)

(A) and (D) only {(2) (A} and (C) only
(B) and (D) only (4) (C)and (D) only

T F AEE R TEY AT _:r"

(&)  FEER g

(B)  AFATRI-THE THTS

(C) Togm 3R =I9eR & 7= iquag
(D)  wwEtE et i T

TEl I R T FHifAT
(1) === (A) % (D) (2) FaEE (A) T (C)

(3) = (B) # (D) (4) == (C) 31 (D)
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1 [Option ID = 19251]
2 [Option ID = 19252]
. 3 [Option ID = 19253]
4 [Option ID = 19254]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the younger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pasz on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them. and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their commeon destiny.
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Assign a suitable title to the paragraph

(1) Theory without practice infertile. practical benefit of theory is in vain
(2) Theory and practical. complement each others

(3) Dichotomy of theory and practice

(4) Theory lends support to practice
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(1)  ==en % fom1 fagia fred 2, fagia & fomn =ramr = 2

(2)  Togm@ 3R =TEEE TE-E F TE 7 |

(3)  fugE s =FEEn # 2Ers|
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[Question ID = 4948][Question Description = Q50_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19255]
2. 2 [Option ID = 19256]
3. 3 [Option ID = 19257]
4. 4 [Option ID = 19258]






